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KEE=-A)VTRAERKR

(1) BRI - BKEF

7—11
e - KED
No b | B By IREEE%E f=shith (4 EH)
REFRHE H20.1.9 | H20.2.6 | H20.3.5 | H20.4.23 ] H20.5.7 | H20.6.4 | H20.7.2 | H20.8.6 | H20.9.3 | H20. 10. 1 H20. 11. 5] H20. 12. 3
Xz gY gY gY Eh Eh Eh Eh Eh Eh Eh Eh Eh
BEEZ 12:30 11:39 10:38 10:57 10:26 10:00 11:03 10:03 10:54 9:16 10:43 10:45
R °C -0.5 -0.6 4.8 22.8 16.0 22.8 25.0 24.8 28.1 12.1 1.5 10.0 =
KB °C 1.1 1.0 0.5 11.5 13.5 15.0 21.3 23.1 19.2 12.9 6.8 4.7 BME | BKME
BRE 3 > 30 > 30 > 30 > 30 = 30 = 30 14 25 27 28 = 30 = 30
=X wWEE | HEe | HEE | BB B | HMAEe | FEE | E8E | FEE | AEE | KEe H5E
2R ER ER ER ER ER ER ER ER ER ER ER ER
T[AFS9L meg/2 0.01 UF| — — — — — — — — — — — — — -
2[>7Y me/0 TR = = = = = = = = = = = = = =
3 |8 mg/Q 0.01 UF — <0.001 — — <0.001 — <0.001 ] <o0.001 — < 0.001 — <0.001 | <0.001 ] <0.001
4 [#FE mg/Q 0.01 UF — < 0.001 — — < 0.001 — <0.001 | <o.001 — < 0.001 — <0.001 | <0.001 ] <o0.001
5 [#K4R mg/0 ]0.0005 LT — — — — — — — — — — — — — —
6 |/RUIEILE T =)L (PCB) mg/4Q Tt — — — — — — — — — — — — — —
BZIEEX P mg/Q 0.02 LT — < 0.001 — — < 0.001 — <0.001 | <o.001 — < 0.001 — <0.001 | <0.001 ] <o0.001
8 |mig{EiRFR mg/Q 0.002 LIF — — — — < 0.0001 — — < 0.0001 — < 0.0001 — < 0.0001 ] <0.0001] <0.0001
A== mg/Q 0.004 LIF — < 0.0001 — — < 0.0001 — < 0.0001 | <0.0001 — < 0. 0001 — <0.0001] <0.0001] <0.0001
10(1,1->B0TFL> mg/Q 0.02 YT — <0.001 — — < 0.001 — <0.001 ] <o0.001 — < 0.001 — <0.001 | <0.001 | <0.001
11[oz-1,2->90RIFLY mg/Q 0.04 LT — < 0.001 — — < 0.001 — <0.001 ] <o.001 — < 0.001 — <0.001 | <0.001 ] <o0.001
12[1,1,1-k)Y0oxTiR Y mg/Q 1 UF — — — — < 0. 0005 — — < 0. 0005 — < 0. 0005 — < 0.0005 | <0.0005] < 0.0005
13[1,1,2-b) s 0OoTAa Y mg/Q 0.006 LIF — — — — < 0.0001 — — < 0.0001 — < 0.0001 — <0.0001] <0.0001] <0.0001
NIYPEEEE I mg/Q 0.03 UTF — — — — <0.001 — — <0.001 — <0.001 — <0.001 | <0.001 ] <0.001
157 FSE0TFLY mg/Q 0.01 UF — < 0. 0005 — — < 0. 0005 — < 0.0005 | <0.0005 — < 0. 0005 — <0.0005 | <0.0005] < 0.0005
16[1,3->4on7oRy mg/Q 0.002 LIF — — — — < 0.0001 — — < 0.0001 — < 0.0001 — < 0.0001 | <0.0001] <0.0001
[HIPEEP mg/Q 0.003 LLF — — — — — — — — — — — — — —
18|FA R LT mg/Q 0.02 LT — — — — — — — — — — — — — —
19[RoEY mg/Q 0.01 UF — < 0.001 — — < 0.001 — <0.001 ] <o.001 — < 0.001 — <0.001 | <0.001 ] <o0.001
20{tL> mg/Q 0.01 UF — — — — <0.001 — — <0.001 — <0.001 — <0.001 | <0.001 | <0.001
o1 |HERIEZES mg/Q 10 U — — — — 0. 04 — — <0.02 — 0.31 — 0.63 ] <o0.02 0. 63
ERHBEESR mg/Q — — — — < 0.005 — — <0.005 — 0.010 — 0.007 | <0.005 0.010
2[5-% mg/Q 0.8 UF — — — — <0.15 — — 0.19 — <0.15 — <0.15 ]<0.15 0.19
PRI ERES mg/Q 1T UTF]<0.02 <002 [<0.02 [<002 [<002 [<0.02 <002 <002 [<0.02 J<0.02 [<002 J<0.02 [<0.02 ][<o0.02
IERE s pg-TEQ/¢ 1T — — — — 0. 043 — — 0. 042 — 0. 042 — 0.075 0. 042 0.075
BITFILREY mg/{ — — — — — — — — < 0.0001 — — — < 0.0001 ]| <0.0001] <0.0001
26[ kLT mg/Q — — — — — — — — < 0.001 — — — <0.001 | <0.001 ] <o0.001
B mg/{ — — — — — — — — <0.001 — — — <0.001 | <0.001 ] <0.001
28[p H — 6.7 6.5 6.4 6.9 7.4 7.2 7.1 7.1 6.4 7.1 7.3 6.7 6.4 7.4
29]BOD mg/Q — — — — — 5.6 — — 4.0 — 3.1 — 1.9 1.9 5.6
30{coD mg/Q — — — — — 7.9 — — 8.3 — 5.4 — 4.5 4.5 8.3
31fss mg/Q — — — — — 12 — — 9 — 8 — 6 6 12
R(eEF mg/Q — — — — — 1.1 — — 2.3 — 1.6 — 1.4 1.1 2.3
B mg/Q — — — — — 0. 071 — — 0.078 — 0.075 — 0. 061 0. 061 0.078
|34 |iBL 1A > mg/Q — 12 12 15 9.7 11 12 11 8.7 8.7 11 12 9.2 8.7 15
B |EREER 1 S/cm — 150 150 160 130 130 140 140 130 130 150 140 120 120 160




T—=12

- gt KED

No " H R | RERE HRAIE (REEE)

RAEFAH H20.5.7 | H20.8.6 | H20.10.1 ] H20.12.3

*& ®h | ®n | ®mh | ®h

FREREFZI 9:25 8:58 6:49 9:20

KB °C 12.2 22.0 1.2 8.0 = -

K °C 107 75 106 50 | ®ME | BAE
BIRE JE3 = 30 = 30 = 30 = 30

18 #E | ®B | ®E | ®e

a5 w8 | ®m2 | ®2 | ==

1| AKRIHL mg/Q 0.01 LI'F — — — — — —
o7 e/t | RRE = = = = = =

3 |#h mg/Q 0.01 LI'F — < 0.001 — — < 0.001 < 0.001
4 (&= mg/Q 0.01 I'F — < 0.001 — — < 0.001 < 0.001
5 |#KER mg/Q 0.0005 LITF — — — — — —
 [RUBEE ==L PB) | meis | FBE = = = = = =

VAP A= =P X B mg/Q 0.02 LI'F — < 0.001 — — < 0.001 < 0.001
8 |migibix = mg/Q 0.002 LI'F — < 0.0001 — — < 0.0001 < 0.0001
9(1,2->HooxT4a Yy mg/Q 0.004 LI'F — < 0. 0001 — — < 0.0001 < 0.0001
10|11, 1->4oAITFLY mg/Q 0.02 LI'F — < 0.001 — — < 0.001 < 0.001
11|>&x-1,2-C>4s0RxTFLYy mg/Q 0.04 LI'F — < 0.001 — — < 0.001 < 0.001
12[1,1,1-k) BT R > mg/Q 1 UF — < 0. 0005 — — < 0.0005 | < 0.0005
1311, 1, 2- F')’]DDI’)"/ mg/Q 0.006 LI'F — < 0.0001 - — < 0.0001 < 0.0001
14|c) 00T FL Y mg/Q 0.03 LI'F — < 0.001 — — < 0.001 < 0.001
157 00T FLY mg/Q 0.01 I'F — < 0. 0005 — — < 0.0005 | < 0.0005
16(1,3->H/noJaRy mg/Q 0.002 LI F — < 0.0001 — — < 0.0001 < 0.0001
17|02y mg/Q 0.003 LI'F — — — — — —
18|FAR AT mg/Q 0.02 LI'F — — — — — —
VIR EFY mg/Q 0.01 LI'F — < 0.001 — — < 0.001 < 0.001
20|l mg/Q 0.01 I F — < 0.001 — — < 0.001 < 0.001

THEETEER mg/Q . — 0. 81 — — 0. 81 0. 81

HEEE e/ 0T ——T<0ws [ = — <0005 [<0.005
22|50 F mg/Q 0.8 LI'F — <0.15 — — <0.15 <0.15
23|IF5% mg/Q 1 UTFT — <0.02 — — <0.02 <0.02
|5 A FX 58 pg-TEQ/Q 1 UF — 0.044 — — 0.044 0.044
BITFIRUEY mg/ 9 — — < 0.0001 — — < 0.0001 < 0.0001
26| LT mg/Q — — < 0.001 — — < 0.001 < 0.001
211¥ LY mg/ — — < 0.001 — — < 0.001 < 0.001
28| p H — 7.6 7.5 7.8 7.5 7.5 7.8
29[BOD mg/Q — — <0.5 — — <0.5 <0.5
30(coD mg/Q — — 2.8 — — 2.8 2.8
31({s s mg/Q — — 4 — — 4 4
N|EEH mg/Q — — 0.87 — — 0.87 0.87
B|eYA mg/Q — — 0.011 — — 0.011 0.011
ﬂiﬁﬁ%’fﬂ'”/ mg/Q — 13 17 18 27 13 27

35| ERIGER ©S/cm — 100 130 120 160 100 160
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- e 5 KED

No E B Bif BIFRE B - B

AEFAR H20.7.9 | H20.2.6 | H20.3.5 [ H20.4.23 ] H20.5.7 | H20.6.4 | H20.7.2 | H20.8.6 J H20.9.3 J H20.10.1 ] H20.11.5 ] H20.12.3

PSS £Y £Y £Y Eh Bh Bh Bh Bh Bh Bh Bh Bh

R 12:37 11:55 10:47 10:47 10:06 9:53 10:51 10:19 10:46 8:59 10:33 10:30

SiB °C 0.6 1.2 5.3 21.0 16.1 224 22.8 224 25.0 12.8 9.5 11.0 = =

KiE °C 3.3 3.6 2.9 11.3 10.5 11.5 15.2 15.4 15.4 11.3 8.6 8.1 BovE | BAfE

B B = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30

&1 mE e ) e ) e wE e wE e mE HEE

Ex "R R "R ER "R ER "R R "R ERR "R R

HETETIN mg/2 0.01 LIF[ - - - - — - - - — - — - - -
2[o7 Y mg/0 T - - - - - - — - - - - - - -

3 [sa mg/0 0.01 UF| - <0.001 — — <0.001 — <0.001 | <0.001 — <0.001 — <0.001 [ <0.001 ] <0.001
TS mg/0 0.01 LT - <0.001 - - <0. 001 - <0.001 | <0.001 - <0.001 — <0.001 | <0.001 | <0.001
5 [#KER mg/¢ [ 0.0006 UF] — - — - — — — — — — — — - —

6 [RUEIEET =)L (PCB) mg/0 T - - - - - — - — - - - — — -
BV D mg/0 002 LIF| - <0.001 - - <0. 001 - <0.001 | <0.001 - <0.001 — <0.001 [ <0.001 | <0.001
8 [miB{biR mg/0 | 0.002 IF] — — — — <0.0001 — — <0.0001 — <0.0001 — <0.0001 | <0.0001 | <0.0001
9[1.2->ynaxsy mg/0 | 0.004 UF] — <0.0001 - - <0.0001 - <0.0001 | <0.0001 - <0.0001 — <0.0001 | <0.0001 | <0.0001
ojLi->yaaxFLy mg/0 002 LIF] - <0.001 — — <0.001 — <0.001 | <0.001 — <0.001 — <0.001 [ <0.001 ] <0.001
Hlyz-1,2-v9RTFLY mg/0 0.04 LTl - <0.001 - - <0.001 - <0.001 | <0.001 - <0.001 — <0.001 [ <0.001 | <0.001
2L 1-tyynoxsy mg/0 Tur] - — — — <0.0005 — — <0.0005 — <0.0005 — <0.0005 | <0.0005 | <0.0005
BlL1.2-tyspATEY mg/0 | 0.006 UF] — — - - <0.0001 - - <0.0001 - <0.0001 - <0.0001 | <0.0001 | <0.0001
“rysonIFLY mg/0 0.03 UF| - — — — <0.001 — — <0.001 — <0.001 — <0.001 [ <0.001 ] <0.001
BlFFSo00TFLY mg/0 0.01 UF| - <0.0005 - - <0.0005 - <0.0005 | <0.0005 - <0.0005 — <0.0005 | <0.0005 | <0.0005
16]1.3->samiaRy mg/0 | 0.002 IF] — — — — <0.0001 — — <0.0001 — <0.0001 — <0.0001 | <0.0001 | <0.0001
HIPES mg/e | 0008 UF| — — — — — — — — — — — — — —
B|FARVANT mg/2 002 LIF] - — — — — — — — — — — — — —
n[Roty mg/0 0.01 UF| - <0.001 - - <0. 001 - <0.001 | <0.001 - <0.001 — <0.001 | <0.001 | <0.001
0Ly mg/0 0.01 UF| - — — — <0.001 — — <0.001 — <0.001 — <0.001 [ <0.001 ] <0.001
o [HERIEZ=R mg/9 10 B b—= — — — 1.7 - - 1.3 - 1.5 - 1.4 1.3 1.7
M ESTEAEESES mg/0 — — — — 0.015 — — 0. 006 — 0.015 — 0.009 | 0.006 0.015
2|53-% mg/9 0.8 UF| — - - - <0.15 - - <0.15 - <0.15 - <0.15_ [<0.15 <0.15
BlIF5% mg/0 T uF[<0.02 [<0.02 [<0.02 [<002 [<002 |<002 [<002 [<002 [<002 <002 [<002 |<002 |<0.02 <0.02
B|FAAXL U pg-TEQ/2 Tur] - - - - 0.042 - - 0.043 - 0.042 - 0.042 | 0.042 0.043
BlzFLRLEY mg/9 - - - - — — — — <0.0001 — — — <0.0001 | <0.0001 | <0.0001
I mg/8 — — — — — — — — <0.001 — - - <0.001 [ <0.001 [ <0.001
2]Fs Ly mg/9 - - - - — — — — <0.001 — — — <0.001 [ <0.001 ] <0.001
28] p H — 7.2 7.3 7.2 7.2 7.3 7.2 7.2 7.2 7.0 7.3 7.1 7.1 7.0 7.3
29|BOD mg/2 - — — — — <0.5 — — <0.5 — <0.5 — 0.8 <0.5 0.8
30[cob mg/8 — — — — — 1.7 — — 2.0 — 1.8 — 2.1 1.7 2.1
3]ss mg/2 - — — — — 1 — — 3 — 2 — 2 1 3
R|eEH mg/9 — — — — — 2.4 - - 1.9 - 2.5 - 1.8 1.8 2.5
B|2YA mg/0 — — — — — 0.008 — — 0.009 — <0.005 — 0.008 | <0.005 0.009
3415 1b( 4> mg/0 - 8.9 8.9 9.1 9.9 9.7 9.2 8.5 8.6 8.7 9.5 9.5 8.4 8.4 9.9
B|ESEEE 4 S/cm — 140 140 140 130 140 140 140 130 130 150 150 140 130 150




7—14
KE®

No ®= H R | REEE ok - AR (PR

REEAR H20.1.9 | H20.2.6 | H20.3.5 | H20.4.23 | H20.5.7 | H20.6.4 | H20.7.2 | H20.8.6 | H20.9.3 | H20.10.1 | H20.11.5 ] H20.12.3

X 5y | ®h | 29 | %0 | ®h | ®h | B8 | %k | %8 | %8 | B8 | ®h

podinli=| 12:49 12:09 11:02 10:22 9:50 9:43 10:38 9:36 10:37 7:52 10:24 10:10

KB °C 1.1 1.1 5.0 21.8 13.1 22.3 27.6 23.0 26.1 9.5 10.2 11.0 = =

KB °c 10. 4 10.8 10. 8 11.2 11.1 10.6 11.6 12.6 10. 6 11.0 11.0 11.0 B/ME &KfE

BIRE 3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30

18 me | e | %6 | ®e | ®& | ®c | ®e | ®c | =& | ®c | & | ®e

a5 w2 | me | 2 | ®m2 | ®m2 | ®m2 | ®m2 | ®m2 | ®2 | ®m2 | ®m= | ®m=

AT e/l | 001 IF] - = = = = = = = = = = = = =
7Y ne/o | = = = = = = = = = = = = = =

3 |88 mg/Q 0.01 LI F — < 0.001 — — < 0.001 — < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
4 |t mg/Q 0.01 LIF - 0.001 - — 0. 001 — < 0.001 0.001 - 0.002 — 0.001 < 0.001 0.002
5 [#a/k£R mg/Q 0.0005 LI F — — — — — — — — — — — — — —

6 [R)iEILET =)L (PCB) mg/Q TR — — — — — — — — — — — — — —
T1ooroor4ay mg/Q 0.02 LI'F - < 0.001 - - < 0.001 — - < 0.001 - < 0.001 - < 0.001 < 0.001 < 0.001
8 |migibkE mg/Q 0.002 LIF — — — — < 0.0001 — — < 0.0001 — < 0.0001 — < 0.0001 ] <0.0001 < 0.0001
9(1,2-Cyopnx4ay mg/Q 0.004 LI - < 0.0001 - - < 0.0001 — - < 0.0001 - < 0.0001 — < 0.0001 ] <0.0001 < 0.0001
10{1,1-HopnTFL mg/Q 0.02 LITF — < 0.001 — — < 0.001 — — < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
1M{vzx-1,2-CHyonoxFL Y mg/Q 0.04 LI'F - < 0.001 - - < 0.001 — - < 0.001 - < 0.001 - < 0.001 < 0.001 < 0.001
12|11,1,1-ry ORI R Y mg/Q 1 LUTF — — — — < 0.0005 — — < 0.0005 — < 0.0005 — < 0.0005] <0.0005 | <0.0005
1311,1,2-r) 00T R Y mg/Q 0.006 LLF — — - - < 0.0001 - - < 0.0001 - < 0.0001 - < 0.0001 ] <0.0001 < 0.0001
H“HlrY)ysoQTFLYy mg/Q 0.03 LIF — — — — < 0.001 — — < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
15|17 S 0QTFLY mg/Q 0.01 LIF - < 0.0005 - — < 0.0005 — - < 0.0005 - < 0.0005 - < 0.0005 ] <0.0005 | <0.0005
16|1,3->o oo ARy mg/Q 0.002 LLF — — — — < 0.0001 — — < 0.0001 — < 0.0001 — < 0.0001 ] <0.0001 < 0.0001
17|o=oy mg/Q 0.003 LI F — — — — — — — — — — — — — —
18|FAR AT mg/Q 0.02 LITF — — — — — — — — — — — — — —
19|~ +FY mg/Q 0.01 LI'F - < 0.001 - — < 0.001 — - < 0.001 - < 0.001 - < 0.001 < 0.001 < 0.001
20|1L > mg/Q 0.01 LI F — — — — < 0.001 — — < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
21 TR ER mg/Q 10 BT — — — — 2.0 — — 2.0 - 2.0 - 2.5 2.0 2.5
|| FHEREESR mg/Q — — — — < 0.005 — — < 0.005 — < 0.005 — < 0.005 < 0.005 < 0.005
2|52%F mg/Q 0.8 LIF — — — — <0.15 — - <0.15 - <0.15 - <0.15 <0.15 <0.15
23|15 % mg/Q 1 UF 0.02 <0.02 <0.02 0.02 <0.02 <0.02 <0.02 0.02 <0.02 <0.02 <0.02 0.03 <0.02 0.03
WIBAF XL 58 pg-TEQ/Q 1 UF — — — — 0.042 — - 0. 042 - 0.042 - 0. 042 0.042 0.042
B|IZTFILAUEY mg/Q — — — — — — — — < 0.0001 — — — < 0.0001 ] <0.0001 < 0.0001
26| kLT mg/Q — — — — — — — — < 0.001 — — - < 0.001 < 0.001 < 0.001
271{% L > mg/Q — — — — — — — — <0.001 — — — < 0.001 < 0.001 < 0.001
28 p H — 7.0 7.0 7.0 7.0 7.0 6.9 6.9 6.9 6.8 7.1 7.0 7.0 6.8 7.1
29|BOD mg/Q — — — — — <0.5 — — <0.5 — <0.5 — 0.8 <0.5 0.8
30lcoD mg/Q — — — — — 0.6 — — 0.9 — 0.7 — 0.8 0.6 0.9
31|s s mg/Q — — — — — <1 — — <1 — <1 — <1 <1 <1
N(eEH mg/Q — — — - — 2.1 — - 2.0 - 2.0 — 2.7 2.0 2.7
B2V A mg/Q — — — — — 0.022 — — 0.022 — 0.027 — 0.023 0.022 0.027
ﬂ BieA 4> mg/Q — 60 60 59 59 59 59 58 58 49 58 58 55 49 60

35 |BERIGER ©S/cm — 330 330 320 320 310 330 330 330 300 310 310 300 300 330




T—17
BRZINNTR

No E B B | B

HEEAR H20.1.9 | H20.2.6 | H20.3.5 | H20.4.23 ] H20.5.7 | H20.6.4 | H20.7.2 | H20.8.6 | H20.9.3 | A20.10.1] H20 11.5 | H20.12.3

E L Bh EY Bh Bh Bh Bh Bh Bh Bh Bh Bh

BB 10:32_|_9:31 830 | 1006 | 1020 | 930 | 10:18 | 9:37 | 10:25 | 10:20 | 1011 | 10:03

B °C 0.2 41 1.8 17.1 15.2 20,1 25.2 24.2 25.2 18.4 12.5 113 | » -

KR °C 1.7 6.9 2.2 12.6 12.0 13.7 15.0 157 15.5 1.7 101 o2 | BR[| BXE

BRE E >3 |=3 |>30 [=3 |=3 [>30 [>3 |=3 [=30 [>30 |=30 24

&4 "e ) "e "e "e "e "e 7e "e 7e BE | MRME

25 mE mE mE mE mE mE mE mE mE mE mE mE

1 [hFEmL mg/8 | 0.01 BF| - = = = = = = = = = = = = =
2[E7 mg/2 TR = = = = = = = = = = = = = =
3@ mg/8 | 0.01 BIF| <0.001 | <0.001 |<0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 |<0.001 | <0.001 | <0.001 | <0.00i
4 |ftE mg/2 | 001 LIF| <0001 | 0.001 | 0002 | <0001 | <000 |<0.001 | <0001 | <0001 |<0.001 | <0.001 | 0001 | <0001 | <o0.001 0.002
5 |[#okER mg/8 | 0.0005 LIF| - = = = = = = = = = = = = =

6 [RUMIEE 7z =)L (PCB) mg/2 TR = = = = = = = = = = = = = =
AEZEEEX D, mg/8 | 0.02 BIF|<0.001 | <0.001 | <0.001 — [<o.001 — [<o.001 [ <0001 — | <o.001 — | <0001 [<0.001 | <o0.001
8 |miELRE mg/0 | 0.002 T[] — — — - [<ooooi [ — — | <0000 — [<00001| — | <0.0001 ] <0.0001 | <0.0001
AV EEEL D mg/% | 0.004 LIF| <0.0007 | <0.0001 [ <0.0001| — |<o0000] — [<00001|<0000] — [<0000i] — |<0.0007|<0.0001 | <0.0001
o[, i-vsaazFLy mg/2 | 0.02 BIF| <0.001 | <0.001 | <0.001 — [ <0001 — [ <0001 [ <0.00i — | <0001 — | <0.001 [<0.001 | <0.001
M[oR-T2-vranzFLy mg/2 | 0.04 LIF| <0.001 | <0.001 | <0.001 — [<o.001 — [<o.001 [ <0001 — | <0001 — | <0001 [<0.001 | <0.001
NV PEEET D) mg/2 TOF| - = = - [<ooos| — — | <0.0005] — [<00005] — | <0.0005]<0.0005 | <0.0005
HENFEYPEEEL D) mg/8 | 0.006 LIF| — = = - [<oowoi [ = — | <oo000i| - [<oo00r| — |<0.0001 ] <0.0001 | <o0.000i
DINEEEEEIS mg/0 | 0.03 UF|  — — — — | <0001 = — | <0001 — | <0001 — | <0.001 [<0.001 | <0.001
5|7 F5o0RTFLY mg/2 | 001 LIF| <0.0005| <0.0005]<00005] — |<00005] — [<00005[<00005] — [<00005] — |<0.0005]<0.0005 | <0.0005
16[1.3-vsn0JORy mg/8 | 0.002 UF| - = = - [<ooooi [ — — | <0000 — [<0000r| — | <0.0001 ] <0.0001 | <0.0001
Te=oy mg/s | 0003 UF| - = = = = = = = = = = = = =
B[FA~HLT mg/8 | 0.02 BF| - = = = = = = = = = = = = =
[~ > mg/8 | 0.01 LIF|<0.001 | <0.001 | <0.001 — [<o.001 — [<o.001 [ <0001 — | <o.001 — | <0001 [<0.001 | <0.001
20[EL> mg/0 | 0.01 R[] — — — — | <0001 = — | <0001 — | <0001 — | <0.001 [<0.001 | <o0.001
MEEEEES mg/0 10 B — - - = 1.8 = = 1.9 = 1.6 = 2.5 1.6 2.5
TS me/2 — — — - [<o005 = — | <0.005 — | <0.005 — | <0.005 [<0.005 | <0.005
2[5-% mg/0 0.8 UIF| — = = - | <015 = - | <05 - | <05 — | <015 [<oi5 [<o.15
BE>% me /2 T LT[ 0.05 0.03 0.06 0.07 0.08 0.03 0.04 | 0.06 0.06 0.10 0.07 0.08 0.03 0.10
U[TAF*S 8 pe-TEQ/Q TUF| - = = = 0059 = = 0.045 = 0. 044 = 0.048 | 0044 | 0.059
BITFLRUEY me/0 - - - - - - - — [<oo0i | = - — | <0.0001 | <0.0001 | <0.0001
P INE mg/2 = = = = = = = — | <o.001 = = — | <0.001 [<0.001 | <0.001
Il ESA mg/0 - - - - - - - — <0001 — — — | <0.001 [<0.001 | <o0.001
28[p H = 8.0 7.9 7.8 7.9 8.0 8.0 7.9 7.9 7.8 8.1 8.0 8.0 7.8 8.1
29[BOD mg/2 = = = = = 0.5 = = 0.5 = 0.6 = 1.0 0.5 1.0
30[cop mg/2 = = = = = 2.5 = = 1.8 = 1.9 = 2.6 1.8 2.6
3[ss mg/2 = = = = = 9 = = 2 = 2 = 28 2 28
EEES mg/g = = = = = 2.0 = = 2.8 = 1.9 = 2.6 1.9 2.8
B[2YA me/2 — — — — — 0.030 = = 0.025 = 0.025 = 0.037 | 0025 | 0.037
HIREEES mg/2 = 74 75 88 o 110 73 72 74 59 98 82 80 59 110

B BEREEE 4 S/cm = 380 380 420 410 450 380 370 380 330 440 390 380 330 450




7—18
HENLERER

7—19
HENTHR

No i} B B RIER#E BG

HEZAH 2057 | 120 8.6 J H20 10. 1] H20 12.3 7205 7 | 20 8.6 | 12070 1] F20. 12,3

KIE BEn [ BEn [ Ehn B Ehn B

R 10:11 5:56 7:28 952 951 642 715 | 10:17

5 C 14.9 19.5 8.8 10.5 o o 15.0 19.1 8.2 14.8 - -

KiE °C 3.1 16.8 10.9 5.1 BME | BKE 12.0 16.8 10.7 5.6 BME | BKTE

BRE & >3 |=30 [=30 |=30 >3 |=30 =30 |=30

248 =) i3S 3] i3S 3] i3S 3] i3S

25 | | | |mE |mE mE mE mE

HETSEGIA me/0 0.01 F] - = = = = = = = = = = =
o7 me/0 TR — — — — — — — — — — — —

3 8 me/Q 0.01 LIT] <0001 | <0.001 [<0001 [ <0001 <0001 |<0001 [<0001 |<0001 |<0001 | <0001 |<0.001 |<o o001
S me/0 0.01 L] 0001 | 0.002 [ 0.001 [<0.001 |<0 001 0.002 0.002 | 0003 | 0.002 | 0001 | 0.00i 0.003
5 [187KkaR me/0 | 0.0005 LT — — — — — — — — — — — —

6 [ BILE 7 = =)L (PCB) me/0 TR - - - = - - - - - - - =
AP me/0 0.02 LIT] <0001 | <0.001 [<o0.001 [<0001 <0001 |<o0001 |<0001 | <0001 | <0001 | <0001 |<0.001 | <0 00i
8 [mEiRE me/t | 0.002 | — | <oo0001| -— — | <0.0001 [ <0 0001 — [<oo001| -— — | <0.0001 |<0.0001
9[1.->snnThy me/0 | 0.004 LI | <0.0001 | <0.0001 | <0 0001 | <0.0007 | <0.0001 | <0.0001 | <0 0007 | <0.0001 | <0.0001 | <0 0001 | <0 0001 |<0. 0001
i, 1-osonTFLY me/0 0.02 LIT] <0001 | <0.001 [<0.001 [ <0001 <0001 |<0001 [<0.001 |<0001 |<0.001 |<0001 |<0.00 |<o0. o001
oA 120500270y me/0 0.04 LIF] <0001 | <0.001 [<0.001 [<o0001 |<000i |<o0001 |<0.001 |<0001 |<0001 | <0001 |<0.001 |<0. 00i
Y PEEET D) me/0 Tur| — [<oo0005] — — | <0.0005 [ <0 0005 — [<oo0005] -— — | <0.0005 | <0 0005
BN AYPEEELP; me/8 | 0.006 U F] — | <o00001] — — [ <0.0001 [<0 0001 — [<oo0i [ = — | <0.0001 |<0.0001
NIYEEEEETY, me/Q 0.03 UF|] — | <o.o001 = — | <o0.001 [<o. o001 — [ <o.001 = — | <o0.001 [<0. 001
HETELEEEE T, me/0 0.01 LI ] <0.0005] <0.0005 | <0.0005 | <0 0005 <0 0005 | <0 0005 | <0 0005] <0 0005 <0 0005 <0 0005] <0.0005 | <0.0005
16]1,3->/ 0070~ me/t | 0.002 F| — | <o0o0001| =— — | <0.0001 [<0 0001 — [<oo001| -— — | <0.0001 |<0.0001
o=y me/0 | 0.003 LT = - - - — — - — - - — —
BFA~R AT me/0 0.02 UF| = - - - - - - - - - - -
[~ o> me/0 0.01 LIF] <0001 | <0.001 [<o0001 [<0001 <0001 |<o0001 |<o0001 | <0001 | <0001 | <0001 |<0.001 | <0 00i
20[€L> me/Q 0.0l UF] — |<o.o001 — — | <o0.001 [<o0 o001 — [ <o.001 — — | <o0.001 [<0.001
1 [EEEER me/0 10 5T — 0.34 = = 0.34 0.34 = 0.46 - - 0.46 0.46
W me/Q — [ <o0.005 = — | <0.005 |<o0.005 — [ <o0.005 - — | <0005 [<0 005
2|5-% me/Q 08 UF| — |<o015 = — [<o15 [<o015 — <o = — |<o015 [<o015
2[E5% me/Q T L] <002 0.02 |<0.02 0.02 |<0.02 0.02 |<0.02 0.03 0.02 003 <002 0.03
NEEEE pe-TEQ/S TuF|  — 0.044 - - 0.044 0.044 - 0.045 - - 0.045 0.045
BIIFIA B me/0 — — [<oo001| = — | <0.0001 [ <0 0001 — [<oo001| = — | <0.0001 | <0.0001
26 F LT me/0 - — | <0.001 - — |<o0.001 [<0.001 — [ <0001 = — [<o0.001 [<o.00i
il E me /0 — — | <o.001 = — | <0.001 [<o. 001 — [ <o.001 - — | <o0.001 [<0.001
28| p H = 77 7.4 76 77 7.4 76 77 75 77 77 7.4 7.7
29[BOD me/0 - — 0.9 — — 0.9 0.9 — 0.9 — — 0.9 0.9
30[COD me/0 - - 19 - = 19 19 - 2.0 - - 2.0 2.0
3i[ss me/0 - - i - - i i - 2 - - 2 2
AEESS me/0 = = 0.38 = = 0.38 0.38 = 0.49 - - 0.49 0.49
ETD me/Q = = 0.007 = = 0.007 0.007 = 0.010 - - 0.010 0.010
RS me/0 - 53 5.2 59 5.9 52 59 73 6.9 8.4 6.7 67 8.4
BESCEE 1 S/om - 71 88 89 76 71 89 79 9% 100 80 79 100




7—20

No ® B s | mmae HREH

REEAR H20.1.9 | H20.2.6 | H20.3.5 | H20.4.23 | H20.5.7 | H20.6.4 | H20.7.2 | H20.8.6 | H20.9.3 | H20.10.1 | H20.11.5 ] H20.12.3

*i g9 | ®n | 29 | %n | Bh | B | ®h | B | ®h | B0 | %h | ®h

podinli=| 11:36 10:41 9:41 11:18 11:00 10:27 11:20 10:50 11:26 9:58 11:09 11:28

KB °C -0.6 -3.6 2.1 22.3 14.2 20.3 24. 4 23.2 26.8 12.2 9.4 6.5 = =

KB °c 2.6 1.3 2.0 12.4 11.9 12.0 14.5 15.5 13.1 11.2 7.8 7.4 B/ME &KfE

BIRE 3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30

&t m | me | ®e | ®me | e | ®e | ®e | ®e | ®e | ®e | ®e | =&

a5 w2 | ®m2 | ®2 | ®m2 | ®2 | ®me | 2 | ®me | ®ms | ®m= | ®s | ®m=

AT e/l | 001 IF] - = = = = = = = = = = = = =
AP et | EE = = = = = = = = = = = = = =

3 |88 mg/Q 0.01 LI F — < 0.001 — — < 0.001 — < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
4 |t mg/Q 0.01 LIF - < 0.001 - - < 0.001 - < 0.001 < 0.001 - < 0.001 — < 0.001 < 0.001 < 0.001
5 [#a/k£R mg/Q 0.0005 LI F — — — — — — — — — — — — — —

6 RKUBEE Tz =L 7B | met | FEE = = = = = = = = = = = = = =
T1ooroor4ay mg/Q 0.02 LI'F - < 0.001 - — < 0.001 — < 0.001 < 0.001 - < 0.001 — < 0.001 < 0.001 < 0.001
8 |migibkE mg/Q 0.002 LIF — < 0.0001 — — < 0.0001 — < 0.0001 ] <0.0001 — < 0.0001 — < 0.0001 ] <0.0001 < 0.0001
9(1,2-Cyopnx4ay mg/Q 0.004 LI - < 0.0001 - — < 0.0001 — < 0.0001 ] <0.0001 - < 0.0001 — < 0.0001 ] <0.0001 < 0.0001
10{1,1-HopnTFL mg/Q 0.02 LITF — < 0.001 — — < 0.001 — < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
1M{vzx-1,2-CHyonoxFL Y mg/Q 0.04 LI'F - < 0.001 - — < 0.001 — < 0.001 < 0.001 - < 0.001 — < 0.001 < 0.001 < 0.001
12|11,1,1-ry ORI R Y mg/Q 1 LUTF — < 0.0005 — — < 0.0005 — < 0.0005 ] <0.0005 — < 0.0005 — < 0.0005] <0.0005 | <0.0005
1311,1,2-r) 00T R Y mg/Q 0.006 LIF - < 0.0001 - — < 0.0001 — < 0.0001 ] <0.0001 - < 0.0001 — < 0.0001 ] <0.0001 < 0.0001
H“HlrY)ysoQTFLYy mg/Q 0.03 LIF — < 0.001 — — < 0.001 — < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
15| o000 FLY mg/Q 0.01 LIF - < 0.0005 - — < 0.0005 — < 0.0005 ] <0.0005 - < 0.0005 — < 0.0005] <0.0005 | <0.0005
16|1,3->o oo ARy mg/Q 0.002 LLF — < 0.0001 — — < 0.0001 — < 0.0001 ] <0.0001 — < 0.0001 — < 0.0001 ] <0.0001 < 0.0001
17|o=oy mg/Q 0.003 LI F — — — — — — — — — — — — — —
18|FAR AT mg/Q 0.02 LITF — — — — — — — — — — — — — —
19|~ +FY mg/Q 0.01 LI'F - < 0.001 - — < 0.001 — < 0.001 < 0.001 - < 0.001 — < 0.001 < 0.001 < 0.001
20|1L > mg/Q 0.01 LI F — — — — < 0.001 — — < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
21 TR ER mg/Q 10 BT — — — — 1.4 — — 1.7 — 1.3 - 2.1 1.3 2.1
|| FHEREESR mg/Q — — — — < 0.005 — — < 0.005 — < 0.005 — < 0.005 < 0.005 < 0.005
2|52%F mg/Q 0.8 LIF — — — — <0.15 — - <0.15 - <0.15 - <0.15 <0.15 <0.15
23|15 % mg/Q 1 LLF] <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
WIBAF XL 58 pg-TEQ/Q 1 UF — — — — 0.043 — - 0. 042 - 0.042 - 0.043 0.042 0.043
B|IZTFILAUEY mg/Q — — — — — < 0.0001 — — < 0.0001 — < 0.0001 — < 0.0001 ] <0.0001 < 0.0001
26| kLT mg/Q — — — — — < 0.001 — — < 0.001 — < 0.001 - < 0.001 < 0.001 < 0.001
271{% L > mg/Q — — — — — < 0.001 — — < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
28 p H — 7.0 7.0 6.9 7.1 7.0 6.9 7.0 7.0 7.0 7.1 6.8 7.0 6.8 7.1
29|BOD mg/Q — — — — — <0.5 — — 1.0 — 0.7 — 0.5 <0.5 1.0
30lcoD mg/Q — — — — — 2.3 — — 2.4 — 2.1 — 2.8 2.1 2.8
31|s s mg/Q — — — — — 2 — — 2 — 2 — 2 2 2
N(eEH mg/Q — — — — — 1.5 — - 2.2 - 1.5 — 2.2 1.5 2.2
B2V A mg/Q — — — — — 0.009 — — 0.016 — 0.010 — 0.013 0.009 0.016
ﬂﬁ'ft*%’f?}”/ mg/Q — 5.9 5.8 5.9 5.5 5.5 5.0 4.6 4.7 5.0 5.4 5.9 5.8 4.6 5.9

35 |BERIGER ©S/cm — 85 83 83 79 79 87 88 94 90 91 94 95 79 95
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No E A Bl | mmRs HERB

HEEAR H20. 1.9 | H20.2.6 | H20.3.5 | H20.4.23 ] H20.5.7 | H20.6.4 | H20.7.2 | H20.8.6 | H20.9.3 | A20.10.1] H20 11.5 | H20.12.3

E £Y Bh EY Bh Bh Bh Bh Bh Bh Bh Bh Bh

BB 1133 | 1033 | 9:35 | 11:04 | 1041 | 10:12 | 11:338 | 1024 | 11:056 | 9:39 | 710:55 | 11:13

B °C 0.3 2.2 0.1 22.0 12.9 20,1 25.1 24.2 26.9 13.0 10.0 6.2 - -

KR °C 0.2 0.5 0.2 12.6 12.8 2.4 12.8 182 17.3 111 6.5 50 | BR[| BXE

BRE E >3 |=3 [>30 [=3 |=3 [>30 [>3 |=3 |=30 [>30 [=30 |=30

&4 "e "e "e ) "e 7E "e "e "e "e "e "e

25 mE mE mE mE mE mE mE mE mE mE mE mE

1 [hFEmL mg/s | 0.01 BF| - = = = = = = = = = = = = =
2[E7 mg/2 TR = = = = = = = = = = = = = =
3@ me/s | 001 WF| — | <0001 = — [ <0001 — [<o-001 [ <000 — | <0001 — | <0.001 [<0.001 | <o0.001
4 |ftE me/t | 0.01 WIF| — | <0.001 = — [<o.001 — [<o.001 [ <0001 — | <o.001 — | <o.001 [<0.001 0. 001
5 |[#okER mg/8 | 0.0005 LF| - = = = = = = = = = = = = =

6 [RUMIEE 7 =)L (PCB) mg/2 TR = = = = = = = = = = = = = =
VR D, me/0 | 002 IF| — | <0.001 = — [<o.001 — [<o.001 [ <0001 — | <o.001 — | <0001 [<0.001 | <o0.001
8 |miELRE mg/8 | 0.002 LIF| — | <o.0001] — — [<oo000i| — [<00001|<0.0001] — [<00001| — | <0.0001]<0.0001 | <0.0001
AV EEEL D mg/s | 0.004 GIF| — | <o0001] — — [<oowi| = [<oooor| <0000 — [<o0000r| — | <0.0001]<0.000i | <o0.0001
o[, i-vsaazFLy mg/8 | 002 LIF| — | <o0.001 = — [ <0001 — [<o-001 [ <0.00i — | <0001 — | <0.001 [<0.001 | <o0.001
M[oR-T2-vranzFLy mg/8 | 0.04 BIF| — | <o0.001 = — [<o.001 — [<o.001 [ <0001 — | <0001 — | <0001 [<0.001 | <o0.001
ARV PEEET D) mg/2 ToF| - [<oows| — — [<o00005] — |<0.0005]<0.0006] — [<00005] — | <0.0005]<0.0005 | <O0.0005
HENFEYPEEEL D) mg/0 | 0.006 IR — [<o.0001|] — — [<oowi| = [<oooor| <0000 — [<o0000i| — | <0.0001]<0.000i | <o0.0001
DINEEEEEIS me/s | 003 WF| — | <0.00i = — [ <0001 — [<o-001 [ <0.00i — | <0001 — | <0.001 [<0.001 | <0.001
5|7 F5o0RTFLY mg/t | 001 LIF| — |<o0.0005] — — <0005 — [<00005[<0.0005] — [<00005] — | <0.0005]<0.0005 | <o0.0005
16[1,.3->sn0JORy mg/8 | 0002 LIF| — | <o.0001] — — [<oo000i| — [<00001|<0.0001] — [<00001| — | <0.0001]<0.0001 | <0.0001
Te=oy mg/s | 0003 UF| - = = = = = = = = = = = = =
BFA~CHLT mg/8 | 002 BF| - = = = = = = = = = = = = =
[~ > me/0 | 0.0 WIF| — | <0.001 = — [<o.001 — [<o.001 [ <0001 — | <o.001 — | <0001 [<0.001 | <0.001
20l mg/0 | 0.01 R[]  — - — — | <0001 = — | <0001 — | <0001 — | <0.001 [<0.001 | <o0.001
MEEEEES mg/9 10 B — - - = 1.0 = = 1.2 = 1.2 = 2.2 1.0 2.2
TS me/2 — — — - [<o005 = — | <0.005 — | <0.005 = 0.014 [ <0.005 | o.014
2[5-% mg/0 0.8 UIF| — = = - | <05 = - | <05 - | <05 — | <015 [<oi15 [<o.15
BE>% me/2 T LT[ <0.02 [<002 [<002 |<0.02 [<0.02 [<002 |<0.02 0.03 0.02 0.02 0.02 0.04 [<0.02 0.04
U[TAF*S 8 pe-TEQ/Q TUF| - = = = 0.043 = = 0.042 = 0.043 = 0.042 | 0042 | o0.043
BITFLRLEY me/0 - - - - — | <oo00i| = — | <0000 — [<00001| — | <0.0001 ] <0.0001 | <0.0001
26[FLTS mg/2 = = = = — [<o.001 = — | <o.001 — | <o.001 — | <0001 [<0.001 | <0.001
Il ESA mg/0 - - - - — | <0001 — — <0001 — | <0001 — | <0.001 [<0.001 | <o0.001
28[p H = 7.3 7.2 71 7.4 7.4 7.2 7.3 7.3 7.3 7.6 7.2 7.3 71 7.6
29[BOD mg/2 = = = = - [<os = = 0.6 = 0.8 — |<os5 [<o05 0.8
30[cob mg/2 = = = = = 2.4 = = 3.6 = 2.5 = 2.7 2.4 3.6
3[ss mg/2 = = = = = i = - | < - | < = i & i
EEES mg/g = = = = = 1.2 = = 1.3 = 1.3 = 2.6 1.2 2.6
B[2YA me/2 - — - — — 0. 006 = = 0. 005 — | <0.005 = 0.009 [<0.005 | 0.009
HREEES mg/2 = 33 43 38 26 26 32 35 48 36 39 60 60 26 60

B BESEEE 4 S/cm = 190 220 190 160 160 190 210 260 210 210 280 280 160 280




7—22
" g 5 RER I

No b1 B BT RIEEE (BRE245)

AEEAH H20.1.9 | H20.2.6 | H20.3. H20.4.23 | H20.5.7 | H20.6.4 | H20.7.2 | H20.8.6 | H20.9.3 | H20.10.1 ]| H20.11.5 ] H20.12.3

P EY Bh = BEh Bh BEh Bh BEh Bh BEh Bh Bh

REREFZI 10:09 9:08 8:12 9:55 9:03 9:14 10:02 6:25 10:08 6:30 9:54 9:05

SR °C -0.8 -4.5 0.1 18.9 12.2 21.9 26.5 18.5 27.1 1.5 11.5 8.2 = =

KB °C 0.5 0.7 1.5 9.1 11.8 14.4 18.1 17.1 15.9 11.2 8.1 6.4 B/ME BK1E

BIRE E = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30

=X =) A =) A BE A =) A 3 & S &

BR |mR D |mR D |mR D ER ER MR R MR ER

NN mg/2 0.01 UF[ ~— - - - - - - - - - - - - -
227y me/0 T - - - - - - - - - - - - - -

3 [¢n mg/Q 0.01 LIF — < 0.001 — — < 0.001 — < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
4 |tk mg/Q 0.01 UTF — <0.001 — — < 0.001 — 0. 001 0.002 — 0. 001 — <0.001 < 0.001 0. 002
5 |[#a/KER mg/Q 0.0005 LIF — — — — — — — — — — — — — —

6 |/R1JiE{LE 7 =)L (PCB) mg/Q TR — — — — — — — — — — — — — —

A A=1=E ¥ ¥ mg/Q 0.02 UTF — <0.001 — — < 0.001 — <0.001 <0.001 — <0.001 — <0.001 < 0.001 <0.001
8 |mig{bikE mg/Q 0.002 LLIF — < 0.0001 — — < 0.0001 — < 0.0001 | <0.0001 — < 0.0001 — < 0.0001 | <0.0001 | <0.0001
9(1,2-HpnpnxT4ay mg/Q 0.004 LIF — < 0.0001 — — < 0.0001 — < 0.0001 | <0.0001 — < 0.0001 — < 0.0001 ]| <0.0001 ] <0.0001
1011,1->s0xFLY mg/Q 0.02 UUF — < 0.001 — — < 0.001 — < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
M|V R-1,2-H o0z FLY mg/Q 0.04 UUF — <0.001 — — < 0.001 — <0.001 <0.001 — <0.001 — <0.001 <0.001 <0.001
12|11, 1,1-kysBpxT2 > mg/Q 1 UF — < 0.0005 — — < 0.0005 — < 0.0005 | <0.0005 — < 0.0005 — < 0.0005 | <0.0005 | <0.0005
13(1,1,2-r)0O0xT2 > mg/Q 0.006 LI F — < 0.0001 — — < 0.0001 — < 0.0001 | <0.0001 — < 0.0001 — < 0.0001 ]| <0.0001 ] <0.0001
14 ) ooo0xFL Y mg/4Q 0.03 LUIF — < 0.001 — — < 0.001 — < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
5|7 k00T FLY mg/Q 0.01 UTF — < 0.0005 — — < 0.0005 — < 0.0005 | <0.0005 — < 0.0005 — < 0.0005 ] <0.0005 ] <0.0005
16[1,3->4sonJaoRy mg/Q 0.002 LIF — < 0.0001 — — < 0.0001 — < 0.0001 | <0.0001 — < 0.0001 — < 0.0001 | <0.0001 | <0.0001
17|1o<woy mg/Q 0.003 LIF — — — — — — — — — — — — — —
18|FAR AT mg/Q 0.02 UUF — — — — — — — — — — — — — —
19[(R+F mg/Q 0.01 UTF — <0.001 — — <0.001 — <0.001 <0.001 — <0.001 — <0.001 < 0.001 < 0.001
20(L > mg/Q 0.01 IF - — — — < 0.001 — — < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
21 BEMESR mg/2 10 BT — — — — 0. 60 — — 0. 66 — 0. 60 — 0.71 0. 60 0.71
| |EEEMMER mg/Q — — — — < 0.005 — — < 0.005 — < 0.005 — <0.005 | <0.005 < 0.005
2|5o% mg/2 0.8 UTF — — — — <0.15 — — <0.15 — <0.15 — <0.15 <0.15 <0.15
2|IEFS5F mg/Q 1 LUTF]<0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 0.02 <0.02 0.02
WIBAF XL 58 pg-TEQ/Q 1 UTF — — — — — — — — — — — — — —
BlTFLREY mg/Q — — — — — < 0.0001 — — < 0.0001 — < 0.0001 — < 0.0001 | <0.0001 | <0.0001
26| MLV mg/Q — — — — — < 0.001 — — <0.001 — <0.001 — <0.001 < 0.001 < 0.001
211F L mg/Q — — — — — < 0.001 — — < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
28 p H — 7.4 7.4 7.3 7.4 1.5 7.5 7.6 7.3 7.4 7.6 1.5 7.3 7.3 7.6
29{BOD mg/Q — — — — — 0.5 — — 0.8 — <0.5 — 1.3 <0.5 1.3
30{coD mg/Q — — — — — 2.0 — — 1.9 — 1.3 — 1.6 1.3 2.0
31{ss mg/Q — — — — — 3 — — 3 — <1 — 2 <1 3
R|2EFH mg/9 — — — — — 0.75 — — 0.76 — 0. 66 — 0.76 0. 66 0.76
33|E2YA mg/Q — — — — — 0. 022 — — 0.015 — 0.007 — 0.010 0. 007 0. 022
|34 |1Be A1 A > mg/Q — 7.3 7.9 8.5 6.0 7.1 7.4 7.5 6.6 5.9 7.6 7.6 6.9 5.9 8.5
35 |ERnER ©S/cm — 91 98 100 67 85 100 110 110 76 100 99 84 67 110

—_
o




7—382

No " B win | mme FAGHAR

AEEAH H20.5.7 | H20.8.6 | H20.10.1

X wmh | ®h | mh

IREREFZI 9:28 9:20 9:59

&8 0,

: S U
BIRE E = 30 = 30 = 30

& ®E | ®E | ®&

55 w2 | ®ma | ®a

1|AFSHL mg/Q 0.01 UF - - - - -
2(>7> mg/Q TR — — — — —

3 [¢n mg/9 0.01 L] <0.001 < 0.001 < 0.001 < 0.001 < 0.001
4 |tk mg/Q 0.01 UTF 0. 002 0. 001 0. 002 0. 001 0.002
5 [#KER mg/9 0.0005 LIF - - - - -

6| RUBEET =L (P08 | ne/t | FBE = - = = =

A A=1=EX ¥ mg/Q 0.02 L] <0.001 <0.001 < 0.001 <0.001 <0.001
8 |mig{bikFk mg/9 0.002 LT — < 0.0001 — < 0.0001 < 0.0001
9(1,2->HopxT4ay mg/Q 0.004 L] <0.0001 ] <0.0001 ] <0.0001] <0.0001 < 0.0001
101,1->s0xFLY mg/Q 0.02 L] <0.001 < 0.001 < 0.001 < 0.001 < 0.001
M| R-1,2-HyonxTFLY mg/Q 0.04 LI <0.001 <0.001 < 0.001 <0.001 <0.001
12{1,1,1-k) 00T 2 > mg/Q 1 UF — < 0.0005 — < 0.0005 | <0.0005
13(1,1,2-r)o0O0xT2 > mg/Q 0.006 LI F — < 0.0001 — < 0.0001 < 0.0001
14 ) oo0xFL Y mg/4Q 0.03 UUF — < 0.001 — < 0.001 < 0.001
5|7 00T FLY mg/Q 0.01 LLF] <0.0005] <0.0005] <0.0005] <0.0005 | <0.0005
16|11, 3->4/sonJaRy mg/Q 0.002 LUIF — < 0.0001 — < 0.0001 < 0.0001
17|o<woy mg/Q 0.003 LLF — — — — —
18|FAR AT mg/9 0.02 T — — — — —
19|RVED mg/Q 0.01 LLF] <0.001 <0.001 < 0.001 <0.001 <0.001
20(L > mg/9 0.01 IF — < 0.001 — < 0.001 < 0.001

HEBEER mg/2 N — 0.74 — 0.74 0.74

HETEs ne/ 100 P ——T70005 | = [<o0.005 [<0.005
22|50 &E mg/Q 0.8 UTF — <0.15 — <0.15 <0.15
2|IEFS5F mg/9 1 LUTF]<0.02 <0.02 <0.02 <0.02 <0.02
U|FA4F X8 pg-TEQ/Q 1 UTF — 0. 042 — 0. 042 0. 042
WBITFILRUEY mg/Q — — < 0.0001 — < 0.0001 < 0.0001
26| MLV mg/Q — — <0.001 — <0.001 <0.001
211F L2 mg/Q — — < 0.001 — < 0.001 <0.001
28| p H — 1.2 6.9 1.2 6.9 7.2
29{BOD mg/Q — — <0.5 — <0.5 <0.5
30{coD mg/Q — — <0.5 — <0.5 <0.5
31{ss mg/Q — — <1 — <1 <1
£ mg/Q — — 0.75 — 0.75 0.75
3B|E2YA mg/9 — — 0.017 — 0.017 0.017
| 34|1BE 1A > mg/Q — 8.0 7.9 7.9 7.9 8.0
35 |ERnER ©S/cm — 98 110 100 98 110

11

7—32

No 3 B B ?? E@% }f) FKE KR
HEFAH H20.12.3
X Bh
FREREFZI 9:29
SR °C 10.7
KR °C 11.6
ERE B = 30

JEX ] 3=
=5 \|R

1 [ —feHE {&/m 100 LR 12

2 | KIBE TR [E3E3
3[AFREHL mg/Q 0.01 LAF | €0.001

4 [kER mg/9 0.0005 LLF | <0.0005
S5lELY mg/Q 0.01 LLF | <0.001

6 |81 mg/Q 0.01 LAF | €0.001

7 |#t*R mg/9 0.01 UTF 0.001

8 |/ffiy B L mg/Q 0.05 LAF | <0.02

9 I7viEA U RUIEIEYTY mg/9 0.01 LAF | €0.001
10(FEMEERRUBHBERSR mg/Q 10 LLF 0.65
NEPES mg/Q 0.8 LAF | €0.15
12|R0% mg/Q 1T | €0.02
13|mis b= mg/Q 0.002 LLF | <0.0001
1411, 4-OA X5 mg/4Q 0.05 LAF | €0.005
151, 1-y800TFL > mg/9 0.02 LAF | €0.001
16| x-1,2-C AT FL Y mg/Q 0.04 LI'F ] <0.001
IPZA=1=E X ¥ mg/9 0.02 LAF | €0.001
8|7 >80 IFLY mg/Q 0.01 LLF ] <0.0005
9|kYysoaxzFL Yy mg/9 0.03 LAF | €0.001
20| mg/Q 0.01 LAF | €0.001

21 |dEh mg/Q 1 LT | <0.005
2|7IVE= L mg/Q 0.2 LL'F | €0.005
23 |8 mg/Q 0.3 LAF | €0.05

24 |$R mg/Q 1 LT | <0.005
25|F UL mg/9 200 LL'F 8.0
26| AHY mg/Q 0.05 LAF | €0.01

21{i& k14> mg/9 200 LL'F 11
28[nhymh, I R9LE (FEE) mg/Q 300 AF 31

29 [ZEFEZEY mg/Q 500 LLI'F 100

30|84 A RmE R mg/Q 0.2 LT | <0.02
N[xARZY mg/Q 0.00002 LA F | <0.000001
32[2-AFILA VKRILRF—IL mg/9 0. 00002 LLF | <0.000001
33[FEA A U REEMR mg/Q 0.02 LLF | <€0.005
4|7/ —ILEE mg/Q 0.005 LLF | <0.0005
35| H# (T0C) mg/Q 5 LT ]| 0.5

36 |pH 5.6~8.6 7.2
JNRR BETHEWNI L i 3=
B|BE B SLUTF | <1
|39 B _ = 2L | <1

R WHSEIERYICET 5 1 0lEBIXER <,




(2) FEashTk

Rk DK AR

No E A st |EBELE .

AEEAH H20.1.9 H20.2.6 H20.3.5 | H20.4.23 | H20.5.7 H20.6. 4 H20.7.2 H20.8.6 H20.9.3 | H20.10.1 ] H20.11.5 | H20.12.3

ERE D in | 2V B i B 20 20 20 = En =

IRERE X 10:58 10:36 9:22 10:37 11:06 9:54 11:37 10:09 10:42 10:06 10:47 10:32

i °Cc -2.8 1.1 0.6 24.3 18.8 21.7 28.4 26. 4 28.2 19.6 13.0 7.4 =

Kig °C 10.7 10. 4 10. 8 11.0 10.8 10.8 10.5 13.8 11.0 10. 8 10.8 9.8 B/ME BXie

BEE E =30 [=30 [=30 |=3 [=3 [=3 [=30 [=30 [=3 |23 [=30 22

18 58 | ®& | e | ®e | 5ae | ®e | wee | 5ee | ®e |enee| ®e | e

85 ma | ®2 | ®2 | ®2 | ®2 | ®2 | ®= | ®2 | ®= | ®2 | ®= RE

5 FE5L T T = = = = = = = = = = = = =

o7y e/t | EE = = = = = = = = = = = = = =
KEEA) mg/Q 0.01 LIF — 0.002 - — 0.002 — 0. 005 0.003 - 0. 005 — 0.012 0.002 0.012
3l () X mg/Q 0.01 LI F — < 0.001 — — < 0.001 — < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
4 |tz mg/Q 0.01 LIF - < 0.001 - - < 0.001 - 0. 001 0. 004 - 0. 004 — 0.003 < 0.001 0. 004
4 mE (AR X mg/Q 0.01 LI F — — — — — — < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
5 (#a/k£R mg/Q 0.0005 LI F — — — — — — — — — — — — — —

6 RUBEET=L P8 | met | *Bm = = = = = = = = = = = = = =

T1oroor4ay mg/Q 0.02 LI'F - < 0.001 - - < 0.001 - - < 0.001 - < 0.001 - < 0.001 < 0.001 < 0.001
8 |migibkE mg/Q 0.002 LIF — — — — — — — < 0.0001 — — — < 0.0001 < 0.0001 < 0.0001
9(1,2-Coyopnx4ay mg/Q 0.004 LIF - < 0.0001 - - < 0.0001 - - < 0.0001 - < 0.0001 — < 0.0001 < 0.0001 < 0.0001
10{1,1-HopnTFL > mg/Q 0.02 LITF — < 0.001 — — < 0.001 — — < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
1M{vzx-1,2-CHyonoxFLy mg/Q 0.04 LI'F - < 0.001 - - < 0.001 - - < 0.001 - < 0.001 - < 0.001 < 0.001 < 0.001
12|11,1,1-ry ORI R Y mg/Q 1 LUTF — — — — — — — < 0.0005 — — — < 0.0005 | <0.0005 | <0.0005
131,1,2-r)O0OxTR Y mg/Q 0.006 LIF — — — — — - - < 0.0001 - - - < 0.0001 < 0.0001 < 0.0001
M4\+)o00xTFLY mg/Q 0.03 LI F — — — — — — — < 0.001 — — — < 0.001 < 0.001 < 0.001
15| o000 FLY mg/Q 0.01 LI'F - < 0.0005 - - < 0.0005 - - < 0.0005 - < 0.0005 - < 0.0005 | <0.0005 | <0.0005
16]1,3-> oo 7arRy mg/Q 0.002 LLF — — — — — — — < 0.0001 — — — < 0.0001 < 0.0001 < 0.0001
17|o=oy mg/Q 0.003 LI F — — — — — — — — — — — — — —
18|FAR AT mg/Q 0.02 LIF — — — — — — — — — — — — — —
19[Ro+FY mg/Q 0.01 LI'F - < 0.001 - - < 0.001 - - < 0.001 - < 0.001 - < 0.001 < 0.001 < 0.001
20|tL > mg/Q 0.01 LI F — — — — — — — < 0.001 — — — < 0.001 < 0.001 < 0.001
21 R ER mg/Q 10 UF — — — — — — — 3.1 — — - 3.7 3.7 3.7
|| FHEBEER mg/Q — — — — — — — < 0.005 — — — 0. 006 < 0.005 0. 006
2|52% mg/Q 0.8 LIF — — — — — — — <0.15 — - - <0.15 <0.15 <0.15
23|15 % mg/Q 1 UF 0.20 0.15 0.16 0.09 0.16 0.18 0.16 0.17 0.13 0.19 0.17 0.16 0.09 0.20
WIBAF XL 58 pg-TEQ/Q 1 UF — — — — — — — 0.044 — - - 0.099 0.044 0.099
B|IZTFILAUEY mg/Q — — — — — — — — < 0.0001 — — — < 0.0001 < 0.0001 < 0.0001
26l LT mg/Q — — — — — — — — < 0.001 — - - < 0.001 < 0.001 < 0.001
271{% L > mg/Q — — — — — — — — < 0.001 — — — < 0.001 < 0.001 < 0.001
28| p H — 6.6 6.6 6.5 6.5 6.4 6.3 6.3 6.7 6.4 6.6 6.4 6.6 6.3 6.7
Qi}i{t%«f#‘/ mg/ 9 — 78 130 130 76 120 130 120 83 5.3 130 110 8.9 5.3 130

N |ERInER ©S/cm — 570 680 690 540 660 710 680 610 360 680 630 360 360 710

X1 ERKEEFISIRA L= TR ZERE L. KEDKREWEIIRET 57-0. A>I5> 1 ILA— (1Li20.4
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#hTFKDKE

T7—9

No "B g |BBFEE BRmRHE

REEAHE H20.1.9 ] H20.2.6 | H20.3.5 | H20.4.23 | H20.5.7 | H20.6.4 | H20.7.2 | H20.8.6 | H20.9.3 | H20.10.1 J H20.11.5 | H20.12.3

ESE: ) | Y | ®Y | ®h | @h | @h | ®h | ®h | ®mh | ®n | ®mh | @h

BREREEZI 12:04 11:34 10:28 11:03 9:41 10:14 13:27 8:01 11:13 9:15 11:33 12:00

XUR °Cc -2.1 1.5 0.8 22.6 13.5 18.1 25.0 21.0 25.8 14.7 11.5 10.3 =

KB °Cc 9.1 1.6 1.8 9.5 9.7 9.5 10.5 11.5 9.5 10.1 9.4 9.3 i i

BRE B = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 29

&1 mE | ®me | me | me | me | ®me | me | ®me | ®me | ®me | ®me | n&

a5 mE | ®mm | me | me | ms | ®wm | ma | ms | ®ms | ®mm | ma | m=

T[hFsoL me/t | 00 BT - = = = = = = = = = = = = =
o7y ng/0 | hRE = = = = = = = = = = = = = =
3 |$h mg/2 0.01 LA <0.001 0.001 ] <0.001 ] <0.001 | <0.001 | <0.001 | <0.001 | <0.001 0.002 | <0.001 | <0.001 0.009 | <0.001 0.009
3l () X mg/Q 0.01 IF - < 0.001 - - - - - - < 0.001 - - <0.001 | <0.001 < 0.001
4 |#tE mg/Q 0.01 LA <0.001 0. 002 0.003 | <0.001 0. 002 0. 002 0. 002 0. 002 0. 001 0. 004 0. 003 0.003 | <0.001 0.004
4 litx (m X mg/Q 0.01 IF - 0.002 0. 003 - 0.001 0.002 0.002 0.002 | <0.001 0.002 0. 003 0.002 | <0.001 0.003
5 |#KER mg/2 ] 0.0005 LAF - - - - - - - - - - - - - -
6[RUBEES =L 0B | me/o | R = = = = = = = = = = = = = =
A== P X mg/Q 0.02 LA | <0.001 <0.001 | <0.001 - < 0.001 — <0.001 | <0.001 - < 0.001 - <0.001 | <0.001 < 0.001
8 |miR{bikE mg/Q 0.002 UUF - - - - < 0.0001 - - < 0.0001 - < 0.0001 - < 0.0001 | <0.0001 | <0.0001
I[l.2-vyonxs Yy mg/Q 0.004 LA <€0.0001 | <0.0001 ) <0.0001 — < 0.0001 — < 0.0001 | <0.0001 - < 0.0001 - < 0.0001 | <0.0001 | <0.0001
wop1-vyeaxFry mg/Q 0.02 LA | <0.001 <0.001 | <0.001 - < 0.001 - <0.001 | <0.001 - <0.001 - <0.001 | <0.001 <0.001
11|¥&x-1,2-2900TF Ly mg/Q 0.04 LAF] <0.001 <0.001 | <0.001 — < 0.001 — <0.001 | <0.001 - <0.001 - <0.001 | <0.001 <0.001
12,1,1-kYy0ox2 Yy mg/Q 1 UT - - - - < 0.0005 - - < 0.0005 - < 0.0005 - < 0.0005 | <0.0005 J <0.0005
1B 1,2-rYynaxTE Y mg/Q 0.006 LAF - - - - < 0.0001 - — < 0.0001 - < 0.0001 - < 0.0001 | <0.0001 | <0.0001
14|~k o00xFLY mg/Q 0.03 IF - - - - < 0.001 - - < 0.001 - < 0.001 - <0.001 | <0.001 < 0.001
15|17 300 F LY mg/Q 0.01 LATF] <0.0005 | <0.0005 | <0.0005 - < 0.0005 — < 0.0005 | <0.0005 - < 0.0005 - < 0.0005 | <0.0005 | <0.0005
16]1,3->san7aRy mg/Q 0.002 LUF - - - - < 0.0001 - - < 0.0001 - < 0.0001 - < 0.0001 | <0.0001 | <0.0001
17[¥=2y mg/Q 0.003 LLF - - - - - - - - - - - - - -
18[FANAILT mg/Q 0.02 IF - - - - - - - - - - - - - -
19[RoE mg/Q 0.01 LA <0.001 <0.001 | <0.001 - < 0.001 - <0.001 | <0.001 - < 0.001 - <0.001 | <0.001 < 0.001
0/tL> mg/Q 0.01 IF - - - - 0.001 - - 0.001 - < 0.001 - 0.001 | <0.001 0. 001
21 B ESR mg/Q 10 BT - - - - 1.2 - - 0.15 - 0.13 - 0.32 0.13 1.2
| | EEBEESR mg/Q - - - - <0.005 - - <0.005 - < 0.005 - <0.005 | <0.005 < 0.005
2|5o% mg/Q 0.8 LIF - - - - <0.15 - - <0.15 - <0.15 - <0.15 <0.15 <0.15
2[IF53F mg/Q 1 LTF] 0.03 <0.02 0.03 0.03 0.02 <0.02 <0.02 0.04 <0.02 0.02 0.02 0.05 <0.02 0.05
U\ FALAXEE pg-TEQ/Q 1 UTF - - - - 0.044 - - 0.044 - 0.042 - 0. 055 0. 042 0. 055
BITFILREY mg/ % - - - - - < 0.0001 - - < 0.0001 - < 0.0001 - < 0.0001 | <0.0001 ] <0.0001
26|k mg/2 - - - - - < 0.001 - - < 0.001 - < 0.001 - <0.001 | <0.001 <0.001
21|% LY mg/Q - - - - - < 0.001 - - < 0.001 - < 0.001 - <0.001 | <0.001 < 0.001
28| p H - 6.7 6.8 6.9 6.5 6.6 6.7 6.9 6.7 6.5 1.0 6.8 6.9 6.5 1.0
[ 20 |i& LA A > mg/Q - 83 19 19 16 85 82 18 80 60 81 18 82 60 85

O |ESEEE uS/cm - 420 390 380 400 410 390 390 400 340 360 360 360 340 420

XIKEEICEA LT RERE L. KEDKREMEIIBET 57-0. Ao I5> I 1ILa— (AE0.dbum) THBLEED SRV THITEEH,

13




7—10

HTRKDKE PN
No ® B s |EBICELE PRE
tﬁgﬁ —FI)IL%:"E

FEEAR 72079 | 72026 | H20.3.5 | H20.4 23] 12057 | 12064 | 72072 ] H20 8.6 | H20 9.3 | 20.70. 1] 20 115 | F20.12.3

Kz £ — — — — — En E E B En En

R 1227 - - - - - 10:36 9:50 11:36 | 10:00 12:52 12:25

58 C 2.0 — - — - - 221 225 254 5.2 2.9 7.0 o o

XiE C 7.8 = = = = = 10.3 10.9 8.8 10.2 8.7 9.5 BME | RKE
BEE & = 30 - - — — — 3.0 7 > 30 13 R 10

=RiE] i) — — — — — P =) S e =1 R R

25 |R — — — — — ] ] | | |E |E

T1h FEoL me/0 0.01 BLF|_ — = = = = = = = =

2 o7 me/Q TR — — — — — — = — —

3 [ me/0 0.01 LT ] <0001 0,032 0.000 | 0002 | 0001 | 0049 0.004 | <0.001 0,049
3o mm) © me/Q 0.01 IF| — 20.001 | <0.001 | <0001 | <0001 [<0.001 |<0.001 | <0001 |<0.001
NS me/0 0.01 LT ] <0001 0.004 | <0.001 | <000l |<o0001 | 0004 |<0.00l |<0.001 0.004
7 iz om © me/Q 0.0 IF| — <0.001 — — — [ <o.001 — <0001 <0001
5 [#27kER me/0 ] 0.0005 L]  — - = = = - = = =

6 [KJHRILE 7 =)L (PCB) me/0 TR — — — — — = = — —
PR, me/0 0.02 LT ] <0001 20001 | <0001 — [<o.001 - 20001 | <0001 | <o0.000
8 [ RE mg/ | 0.002 BF| — — < 0.0001 — [<o0.0001 = <0.0001 | <0.0001 | <0.0001
IS EEEE D me/0 | 0.004 LIT| <0.0001 20,0001 | <0.0001 — <0 oo0i - <0.0001 | <0.0001 | <0.0001
0[i,1-csoaTFLy me/0 0.02 LI ] <0.001 <0.001 | <0.00i — [<0.001 - 20,001 | <0.001 | <0.00i
Moxi2o000170Y me/0 0.04 L1 ] < 0.001 20.001 | <0.00i — <0001 - 20,001 | <0.001 | <0.00i
121 1.1-F)/a0Ta> me/0 TuF|  — — <0.0006 | = | <0.0005 - 0.0005 | <0.0005 | <0.0005
BINNAYPEEEEY, me/0 | 0.006 L] — - 0. 0001 — <0 o001 - <0.0001 | <0.0001 | <0.0001
NIYEEEEETP, me/0 0.03 UF| ~— x X x x x - 0,001 — [<0.001 - 20,001 ]| <0.001 | <0.00i
HETEPEEEE TP, me/0 0.01 LIT|<0.0005| g A A A @ | <00005 [<0.0005] = [<0.0005 - 20,0005 | <0.0005 | <0.0005
16]1,3->/0070~> me/0 | 0.002 UF]  — — 0. 0001 — [ <0 oo0i - <0.0001 | <0.0001 | <0.0001
7=y me/ | 0008 UF]  — = = = = = - = =
8| FA~ AT me/Q 0.02 IF| - = = = = = = = =
DD, me/0 0.01 LIF] <0001 20001 | <0.001 — [<o.001 - 20001 | <0001 | <o0.000
20[€L> me/0 0.0l UF| -— — 0. 001 — [<0.001 - 20,001 | <0.001 0.001
| [EEEEE me/Q 10 B — — 3.1 — 33 = 25 25 33
TR me/0 = — 0.006 — [<o0.005 = 0.008 | <0.005 | <0 008
AEEES me/Q 0.8 UF| - — 015 — [<o5 = 015 <015 <015
REEES me/Q T U] 013 0.07 0.15 0.14 0.09 0.19 0.16 | <007 0.19
MEEEEDE pg-TEQ/Q 1 LT — — R — R — KA — —
BIITFIA B me/0 = = — < 0. 0001 — [ <o0.0001 = <0.0001 | <0.0001 | <0.0001
26| FLT> me/0 = - - 0,001 — <0001 - 20,001 | <0.001 | <0.00i
HIESTD, me/0 = = — <0.001 — [<o.001 = 20,001 | <0.001 [ <0.00i
28| p H = 76 70 7.0 69 7.2 77 7.2 6.9 7.6
[29[sB1EA £ & me/Q = 7 110 70 27 69 69 3 27 110
N[ESEEE 1S/cm 260 570 290 300 400 490 370 300 570

X1 FKEF R A LT TIBZ R % L. KEDY

KRt & HORE I B4R

FTBH, AVITSUITAILE—

(FLE0. 4B um) CHBLEEDSRIZ DT HH &=,
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HTKDKE

7—23

No B B |BEELR mERS
B #TRK

REFAHE H20.1.9 | H20.2.6 | H20.3.5 | H20.4.23 | H20.5.7 | H20.6.4 | H20.7.2 | H20.8.6 H20.9.3 H20.10.1 | H20.11.5 | H20.12.3

E £Y 2Y £Y Bh Bh Bh Bh Bh [0 Bh Bh Bh

AR ZI 10:37 10:49 8:53 10:19 9:29 9:35 11:06 8:48 10:24 9:03 10:21 12:24

R °c -4.0 -2.3 1.8 23.9 12.5 20.8 28.1 23.2 26.5 17.0 12.6 8.5 =

KiE °Cc 9.5 9.8 10. 1 10.3 10.6 11.7 11.4 10.5 12.0 10.8 9.7 10.0 BurE BAE
BHRE E = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 14

&1 mE | me | me | we | mee | me | me | me | wme | n@e | we | gpaee

25 me | m2 | me | m= | wme | me | mm | me | me | me | me | ms

TGP e/l | 001 F] - = = = = = = = = = = = = =
2[o7e ne/t | Fmm | — = = = = = = = = = = = = =

3 |$a mg/Q 0.01 LLF] <0.001 ] <0.001 J <0.001 J<0.001 J <0.001 f<0.001 J<0.001 | <0.001 | <0.001 < 0.001 <0.001 0. 001 <0.001 0. 001
3 [ (BE) me/t | 0.01 BF| — - — — — — — — — — —  [<o0.001 [<0001 |<o.00i
4 |fitR mg/Q 0.01 LLF] <0.001 ]| <0.001 J <0.001 J<0.001 J <0.001 f<0.001 J<0.001 | <0.001 | <0.001 < 0.001 <0.001 0. 001 <0.001 0. 001
7 [z am © me/t | 0.0l BF| — — — — — — — — — — — <0001 [<0001 |<o.00i
5 |#KER mg/Q | 0.0005 LAF - - - - - - - - — - - - - —
bRy BEE == (P | nme/e | TBE | = = = = = = = = = = = = =
1|1>y00xA48y mg/Q 0.02 LLF] <€0.001 ] <0.001 J <0.001 J<0.001 J<0.001 f<0.001 J<0.001 J<0.001 | <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
8 |MiEIEREK mg/Q 0.002 LA <0.0001 ) <0.0001 ) <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 ) <0.0001 < 0.0001 < 0.0001 ] <€0.0001 J <0.0001 |} <0.0001
Ip2-vypnxIsy mg/Q 0.004 LI <0.0001 ] <0.0001 ] <0.0001 | <0.0001 J <0.0001 ] <0.0001 | <0.0001 | <0.0001 | <0.0001 < 0. 0001 < 0.0001 ] <0.0001 J <0.0001 J <0.0001
ojL1->so0xFLy mg/Q 0.02 LLF] <0.001 ]| <0.001 J <0.001 J<0.001 J <0.001 f<0.001 J<0.001 | <0.001 | <0.001 < 0.001 <0.001 < 0.001 <0.001 <0.001
1M|>&x-1,2-Y900xFLy mg/Q 0.04 LLF] <€0.001 ] <0.001 J <0.001 J<0.001 J<0.001 f<0.001 J<0.001 | <0.001 | <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
211-ryyo00xs mg/Q 1 LA <0.0005 ] <0.0005 | <0.0005 ] <0.0005 ] <0.0005 ] <0.0005 | <0.0005 | <0.0005]) <0.0005 ] <0.0005 | <0.0005 ] <0.0005 | <0.0005 ]| <0.0005
13(1,1.2-kYy o002 mg/Q 0.006 LA <0.0001 ] <0.0001 ] <0.0001 | <0.0001 J <0.0001 ] <0.0001 | <0.0001 J <0.0001 | <0.0001 < 0. 0001 < 0.0001 ] <€0.0001 J <0.0001 |} <0.0001
4(k) 0T FLY mg/Q 0.03 LLF] <0.001 ] <0.001 J <0.001 J<0.001 J<0.001 f<0.001 J<0.001 | <0.001 | <0.001 < 0.001 <0.001 < 0.001 <0.001 <0.001
15| 7k3900TFLY mg/Q 0.01 LLF] <0.0005 | <0.0005 | <0.0005] <0.0005 | <0.0005 | <0.0005] <0.0005| <0.0005 | <0.0005 ] <0.0005 ] <0.0005 ] <0.0005 | <0.0005 | <0.0005
16[1,3->son7oRy mg/Q 0.002 LA <0.0001 ) <0.0001 ] <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 ) <0.0001 < 0. 0001 < 0.0001 ] <€0.0001 J <0.0001 ] <0.0001
Te=sy me/2 | 0.003 LIF| — = = = = = = = = = = = = =
18T~ ALT g/t | 002 LF| - = = = = = = = = = = = = =
19[RoEy mg/Q 0.01 LLF] <€0.001 ] <0.001 J <0.001 J<0.001 J<0.001 f<0.001 J<0.001 J<0.001 | <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
20(tL> mg/Q 0.01 UU'F — - — — < 0.001 — — <0.001 - < 0.001 - < 0.001 <0.001 <0.001
21 THEAME =R mg/2 10 BT - - - - 2.1 - - 2.0 - 1.9 - 2.1 1.9 2.1
EER G EES mg/Q — - — — < 0.005 — — < 0.005 - < 0.005 — 0.016 < 0.005 0.016
2(5o% mg/Q 0.8 UTF - - - - <0.15 - - <0.15 - <0.15 - 0.18 <0.15 0.18
2F5F mg/Q 1 LT €0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
U[FAAXIUEE pg-TEQ/Q 1 UTF - - - - 0. 044 - - 0.049 - 0. 045 - 0. 059 0. 044 0.059
BITFIAVEY mg/Q - - - - - - - - < 0.0001 - — — < 0.0001 J <0.0001 J <0.0001
26| mg/Q - - - - - - - - < 0.001 - - - < 0.001 < 0.001 < 0.001
271¥v Ly mg/Q - - - - - - - - <0.001 - — — < 0.001 <0.001 <0.001
28|p H — 1.6 1.5 1.4 6.9 6.9 6.8 6.9 6.7 6.8 6.9 1.0 1.2 6.7 1.6
29 [IBfeA A > mg/Q — 14 14 13 13 13 13 13 12 13 13 13 11 11 14

30| ESURER (1 S/cm 120 120 120 110 110 110 110 110 140 110 120 120 110 140

XTI EKBIEA L TEZRE L. KEDY

KRt & HORE I B4R
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T—24

HTRKDKE -
No % B sy |EBICFERE RREES TR
e #TK
REEAH 720.5.7 | H20.8.6 | H20.9.30 ] 120, 12.3
PR B En B En
BEEZ 9:25 7:20 15:15 10:40
=) C 151 19.2 152 10.8 o o
KE °C 9.8 15.0 7.5 a | BME | BAME
BRE E = 30 &l = 30 &l
=RiE] ) =k e EdE)
B2 |R ] | (T
HETSEGIN mg/0 0.01 BIF|  — = = = = =
20v7y mg/Q TR — — — — — —
38 mg,/2 0.01 LI 7| 0002 | @077 | o0.007 | o004 | o0.002 0.014
3 e (m@) © me/2 0.01 LIF] <0.001 | <0001 |<0.001 | 0007 |<o0.00i 0.007
NS mg/2 0.01 LI | 0003 | 0005 | 0.004 | 0008 | 0003 0.008
IliE Bw ¢ me/2 0.01 LI F| 0002 | 0002 | 0003 | 0003 | 0002 0.003
5 [ 7K3R meg/2 | 0.0006 LIF]  — — — — — —
6 |R1JiE{LE T =)L (PCB) mg/9 TR — — — — — —
AP me/2 0.02 LIF | <0.001 & | <0.001 %8 | <0001 | <0 001
AR me/2 | 0.002 LIF] <0.0001 | %&@ | <o0.0001] %@ | <0.0001 | <o0.0001
9[l.2->osoRTay me/2 | 0.004 LIF] <0.0001 | Z&@ | <o0.0001| %@ | <0.0001 | <0.0001
[ii-s»oozFLy mg/2 0.02 LIF | <0.001 % | <0.001 7B | <0001 |<0. 001
M[ox-1,2-osa0TF LY /2 0.04 LIF | <0.001 &3 | <o.001 %8 | <0001 | <0 001
AIEEEYPEEEE D) mg/2 T LF] <0.0005| %@ |<0.0005] 4@ | <0 0005 | <0 0005
HIENAYPEEEE D) me/2 | 0.006 LIF] <0.0001 | @ | <o0.0001| Z@ | <0.0001 | <o0.0001
NIYEEEEETY mg/2 0.03 LIF | <0.001 % | <0.001 %@ | <0001 | <0 001
Bl7F5o00IFLY me/2 0.01 LIF] <0.0005] %@ | <0.0005] %@ | <0.0005 | <0 0005
6[i.3->onnJjoxy me/2 | 0.002 LIF] <0.0001 | %@ | <0.0001] %@ | <0.0001 | <o0.0001
HPESD mg/2 | 0003 LIF]  — - = - - -
Bl[Fr~ohLT mg/2 0.02 LIF|  — - - - - -
[~oto me/2 0.01 LIF] <0.001 & | <0.001 % | <0001 | <0 001
20wl mg/2 0.01 LIT] <0001 | <0001 |<0.001 7B | <0001 |<0. 001
o [BEEER me/2 10 b |22 0.25 0.39 3 0. 25 0.39
TIRBEER me/2 <0.005 | <0.005 | <0.005 | %@ |<0.005 |<0.005
2[5o% me/2 0.8 WF|<0.15 7 | <0.15 %8 | <015 |<o0.15
BE>5% mg/2 T TR <002 [<002 [<0.02 % | <002 |<o0.02
W54 AFL 88 pg-TEQ/Q 1 UTF &l KA &l Al — —
BITFILRVEY mg/Q — - P&l — &l — —
26| LTV mg/Q — — KA — KA — —
21{F LY mg/Q — — el — el — —
28| p H — 7.3 7.0 7.0 6.9 6.9 7.3
[29[1E LA A~ mg/2 — 7.1 7.3 7.3 7.7 7.1 7.7
o[EsEEE — 4 S/cm - | o 130|110 130 93 130
XIRKBFITEALEZTEZREL. KEORREWFEITIEET 57280, A2TF0T4)L8— (FLE0.45um) THBLHE

DAHBEIZOVWTHITEREM,
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HTKDKE 5 77_ >3J:1:=:E
No I B H |FAICERDER o
HEEE #h K

BEEAH F20.7.9 | 120.2.6 | H20.3.5 | 120.4.23 | H20.5.7 | H20.6.4 | H20.7.2 | H20.8.6 | H20.9.3 | H20.10.1 ] H20.11.5 | h20.12.3

Kz £Y £Y £Y B Eh B — En B En B En

FEEZ 11.50 11:20 9:57 10.49 10.14 10.05 — 824 10.58 9:48 11.06 T1:20

) °C 2.6 2.4 0.3 211 4.0 18.5 — 22.0 26.8 16.8 2.8 8.8 - -

Kia C 8.5 8.6 9.0 9.2 9.5 9.0 — 9.5 9.8 1.2 9.4 9.0 BME | RKE

BRE & = 30 3.8 10 = 30 9 = 30 — |z 30 = 30 = 30 = 30 = 30

=R EiE) D) (o= Eis) K8 Eis) — Eis) i) Eis) i) wiat

25 ] |R |R ] |R ] — ] |R ] |R ]

HETSEGIN mg/0 0.01 LIF| - = = = = - = = = = = = =
AP mg/0 TR - = = - = - - = - = - = =

3 |5 me/2 0.01 LF| - <0. 001 — — <0. 001 — 0. 004 — <0. 001 — <0.001 | <0.001 0. 004
3 |3 (Bm) * mg/2 0.01 LIF| - — - - - - <0. 001 — — — — <0.001 | <0.001
NEES me/2 0.01 LUF| - <0. 001 — — <0. 001 — 0. 001 — 0. 001 — <0.001 | <0.001 | <0.001
4 Jitm (2@ © mg/0 001 LT[ - — — — — — — — — — — — —

5 |4k 3R mg/0 | 0.0005 LIF| — — — — — — — — — — — — —

6 [ RUIEILE 7= =)L (PCB) mg/0 ENET - = = - = - - = - = - = =
AR mg/2 0.02 UF| - <0. 001 — — <0. 001 — <0. 001 — <0. 001 — <0.001 | <0.001 | <0.001
8 |miEltm® me/0 | 0.002 LIF| — — — — <0. 0001 — < 0. 0001 — < 0. 0001 — <0.0001 | <0.0001 | <0.0001
9[1.2-Csonxh> me/0 | 0.004 LIF| — < 0. 0001 — — <0. 0001 — <0. 0001 — <0. 0001 — <0.0001 | <0.0001 | <0.0001
10[1,1->4oaTFLY me/8 0.02 LIF| ~— < 0. 001 — — <0. 001 — < 0. 001 — <0. 001 — <0.001 | <0.001 | <0.001
M[oz-1.2-Ss0nTFL me/0 0.04 UF| - <0. 001 — — <0. 001 — <0. 001 — <0. 001 — <0.001 | <0.001 | <0.001
21, 1-FrysO0aTa> me/0 TR — — — — <0.0005 — < 0. 0005 — <0. 0005 — <0.0005 | <0.0005 | <0.0005
HIENAYPEEEE D mg/8 | 0.006 LIF| — — — — <0.0001 — <0. 0001 — <0. 0001 — <0.0001 | <0.0001 | <0.0001
NIYEEEEEIS me/2 0.03 LIF| - — — — <0. 001 — X <0. 001 — <0. 001 — <0.001 | <0.001 | <0.001
5|7 FSoO00TFLY me/8 0.01 LIF| — <0.0005 — — <0.0005 — Al <0. 0005 — <0. 0005 — <0.0005 | <0.0005 | <0.0005
16]1,3->o 00 0~y mg/t | 0.002 LIF| — - — — <0. 0001 — <0. 0001 — < 0. 0001 — <0.0001 | <0.0001 | <0.0001
HIPEEY mg/8 | 0.003 LIF| — — — — — — — — — — — — —
BlFA~oANT mg/0 0.02 LF| ~— — — — — — — — — — — — —
9[Ro€s mg/2 0.0 UF| - <0. 001 — — <0. 001 — <0. 001 — <0. 001 — <0.001 | <0.001 | <0.001
0[ELY me/2 0.01 LIF| - — — — <0. 001 — <0. 001 — < 0. 001 — <0.001 | <0.001 | <0.001
METTEEES meg/2 10 B — = = - 2.4 - 2.5 — 1.4 — 3.2 1.4 3.2

BRBEER me/2 — — — — <0.005 — < 0. 005 — < 0. 005 — <0.005 | <0.005 | <0.005

2|5-% mg/2 0.8 LIF| - — — — <0.15 — <0.15 — <0.15 — <0.15 | <0.15 <0.15
EEEES me/2 T LF[ <002 |<002 |<0.02 <002 [<002 [<002 <0.02 | <002 |<002 [<o0o02 0.02 |<0.02 0.02
U|FA XL UE pe-TEQ/2 1T oF] - — — — 0.053 — 0.066 — 0. 054 — 0.079 0.053 0.079
BTFIRUEY me/2 — - - - — — — 0. 0001 — — — <0.0001 | <0.0001 | <0.0001
26| FLT> mg/2 - - - - — — — <0. 001 — — — <0.001 | <0.001 | <0.001
27[xo L me/2 — - - - — — — < 0. 001 — — — <0.001 | <0.001 | <0.001
28| p H — 6.3 6. 4 6.2 6.1 6.4 6.1 6.2 6.3 6. 4 6.1 6.2 6.1 6.4
EIERERED, me/2 — 6.6 9.4 11 55 6.3 9.8 6.0 52 5 4 9.9 9.5 52 11
N|ESEEE 14S/cm — 140 150 150 96 120 150 120 95 100 150 160 95 160
X FKEFIEALETEZREL. KEORKRENREICIEET 30, AVIT50 7408 — (AR0.45um) THBLEEDAKIZDODVWTHEER.
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(3) EKEERRHK

7—3
" HEK KEE
No ® H i i BRI
WEEhn 2057 | H20. 8.6 | H20. 101 [ H20 12.3
XIE Eh fEh BEn BEn
R 10:35 | 1045 | 10.13 | 12:20
aE °C 15.2 29.8 19.8 13.4 - -
KiE C 7.1 7.8 16.9 1.2 BME | BRAE
BRE B 2.5 8 6 8
48 26 2188 26 2188
25 AR AIER AIER BER
HETSEEIA me/0 01 Ir] _ — | <0001 —  [<0.001 ]<0.001 ]<o0 001
2[>7 > me/0 TuT| — [<o0.0 — [<o001 [<o0i [<o.o0i
3% me/0 0.1 F| 0002 | 0002 <0001 [<0001 |<0 001 0.002
5 (R me/9 0.1 LIF] <0.001 |<0.001 | <0001 |<0001 |<0.001 |<0 001
6 [#KER me/8 | 0.006 F| — | <0.0005 — [ <0.0005 | <0.0005 | <0.0005
7[R UBIEE 7 =L (PCB) me/2 0003 F| — | <0.0005 — [ <0.0005 [ <0.0005 | <0.0005
APZEEEY me/0 0.2 LIF| 0006 | 0004 | 0006 | 0005 | 0004 0.006
D EEES mg/% | 0.02 LI ] <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0 0001 | <0.0001
NI EEEE D me/8 | 0.04 | 0011 | 0012 | 00095 0016 | 00095 | 0016
N EEEEID, me/9 0.2 IF| <0001 [<0.001 | <0.001 |<0.00i |<0.001 |<0. 001
2> 212-Ss0nTFLY meg/0 0.4 LIF| <0001 | 0002 | <0001 [<0001 |<0 001 0.002
[HINEEYPEEELP; me/9 3 LI | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
NIENAYPEEEED, me/8 | 0.06 LIT] <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
HIYEEEEE I, me/9 0.3 LIT] <0.001 | <0001 | <0001 |<0001 |<0.001 |<0 001
6|7 F5/00TF L me/0 0.1 LU | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
T[.3->snnJ7oxy me/8 | 0.02 LI ] <0.0001 | <0.0001 | <0 0001 | <0.0001 | <0.0001 | <0.0001
BlL<oo mg/% | 0.03 WF| -— = = = = =
0 |FAN AT me /9 0.2 UF| = = = = = =
W0[~oB me/0 01 UT| 027 0.3 0.32 0.30 0.27 0.36
2L me/0 0.1 LIF] <0.001 <0001 | <0001 <0001 |<0.001 |<0 001
M eSS me/0 ~ 0.12 [<002 |<002 [<002 [<0.02 0.12
ERREER me/9 0.026 | <0.006 | 0012 | <0005 |<0. 005 0.026
R EEES me/0 8 LIF| 0.63 0.41 0.50 0.62 0.41 0.63
EEES me/Q 0 UF| 27 32 20 26 26 2
e pe-TEQ/2| 10 LI T| 0.20 0.34 18 0. 61 0.2 18
B[TFILA B ) = 2.1 2.9 3.3 2.6 2.1 3.3
e me/0 - 6.8 8.0 8.2 5.8 5.8 8.2
e, ) - 13 1 1 0.99 10 13
29[p H = 7.4 7.2 7.5 7.3 7.2 7.5
30[BOD me/0 = 2200 1900 1700 1400 1400 2200
31[CoD me/0 = 930 740 610 680 610 930
2[ss me/9 - 70 31 50 78 31 78
EEES me/0 - 330 300 290 270 270 330
34[2 YA me/9 - 40 34 29 29 29 40
BHREEED me/0 = 2700 2300 2200 2100 2100 2700
6| ES R 11S/om = 17000 | 10000 | 10000 | 10000 | 10000 11000




(4) EKEERNH#TK

7—8
T KDKE o

No ® B sy |EB-mLE ﬁ*ﬂﬁﬁiﬁ“

HEEAH 205 7 | A20.86 [H20 101 A0 123

KIE fEh BEn BEn BEn

REREZ 1023 | 916 | 10:37 | 1128

=5 °C 15.2 251 273 3 | . _
KiE G 13.2 137 13.2 76 | ®NME | BXE
BOE = 23 |=30 [=30 |=30

=R mEBE 5 5B WMERE

25 WAl R | BAER BER | AR

ThFEoL me/t | 0.0l IF| - [<0.00i — <0001 | <0007 |<0.00]
AP /0 TR — [ <o.0 — <001 <001 [<o.o0i

3 (3 me/s | 0.01 BF| 0003 | 0002 [ <0001 [<0.007 |<0. 001 0.003
3 s (B me/2 | 0.01 LIF| <0001 | <0 001 — — <0001 [<o0.001
2 |HE me/s | 0.0 F| 0006 | 0004 | 0004 | @0z | o004 | 005
V% @ ~ me/s | 0.0 5F| 0003 | 0001 | 0003 | 0003 | 000 0. 003
5 [4kE me/t | 0.0005 | — [<00005] — | <0 0005 <0 0005 | <0 0005
6 |RUEILE 7 £ =JL (PCB) me/8 R — [<00005 | = | <0 0005 <0 0005 | <0 0005
TShnnAsy me/s | 002 F| 0002 | 0002 | 0002 | 0002 | 0002 | 0002
AR me/s | 0.002 B F| - [<o0000i]  — |<0.0001 | <0.0001 | <0 0001
9[l.->sonIs> me/s | 0.004 BF| 00023 00022 00028 | 00024 00022 | 0 0028
NRECEEEE I me/% | 002 LiF| <0001 | <0001 | <0001 |<0.001 |<0.001 [<0 00i
oA 25500170 me/s | 004 BF| <0001 <0001 [<0001 [<0001 J<0001 |<000i
21 1-Fys0nTE> me/8 TF|  — [<00005] = [<0.0005]<0.0005 |<o0. 0005
B YCEEEL D) me/t | 0.006 BF| — 00002 = 0.0001 | 0.0001 | 00002
NIYEEEEETD] mg/t | 0.03 BF|  — [ <0.00i — [<0.001 |<0.001 |<o0.001
5755 00TFLY me/% | 0.01 5T | <0 0005 | <0.0005] <0.0005 | <0.0005 | <0.0005 | <0. 0005
6[1.30snnJa~y me/s | 0.002 i F| - [<o0000i] — |<0.000i | <0.0001 | <0 0001
HCESD mg/8 | 0.003 IF| = — = = = =
8|FARHLT me/t | 0.02 UF| = — = = = =
D me/t | 001 Liv| 0068 | 0067 | 00s2 | ooes | o061 | 0068
0wl mg/t | 0.00 BF|  — [ <0.00i — <0001 |<0.001 |<0.001
o [REEEE me/2 10 <o — <002 [<o00 [<o0
N mg/2 — [ <0.005 — [<0.005 [<0.005 |<o0. 005
25o% me/2 08 BF| = |<015 — <015 [<oi5 [<oi5
23|E5% mg/2 TuT| 27 26 29 21 21 29
EEEE DD 0g-TEQ/8 T LT — 0. 045 — 0.054 | 0045 | 0054
I EEI D me/0 = = 0.047 - 0.0%5 | 0047 | 007
6| F LT me/0 - - 0.005 - 0.007 | 0005 | 0007
AIEPT; me/0 = = 0.62 - 0.70 0.62 0.70
28] o H - 68 6.7 70 6.8 6.7 7.0
29[ B £ > g /2 = 840 1100 1100 1300 840 1300
o[EssEE | uS/em — |40 2800 _| 4300 4100 2000 4800
X BKEIEALEIBRZREL. KEORREMERET 57-0H. AoI5- I Lai— (B0 Mum) CABLEED

BRIZDOWT R # =k,
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20

T KOKE o
No pic| B By |FAICKRLIER -
EEEY

REERR W20 26 | H205.7 | 12072 | H20.86 | H20.70.1 | H20. 123

PR £Y B En B En B

S 121 7.4 12:14 1122 1132 1729

&8 C 7.8 17.0 21 30.5 19.3 12.4 o

Kia c 10.7 10.7 10.7 10.7 10.6 10.6 BME | BAE

ERE & = 30 =30 =30 =30 > 30 > 30

=RiE] WERB WER RER =1 g2 e

25 ] |R ] | |E ]

HETSEGIA me/0 0.01 LT = = = = = = = =
A% ne/t | A = = = = = = = =
33 me/Q 0.01 LIF = = = = = = = =
ENEED me/0 0.01 LT = = = = = = = =
AEES me/Q 0.01 LT = = = = = = = =
4 iR AR me/0 0.01 LT = = = = = = = =

5 [k me/0 | 0.0005 LT - — - — - — - —

6 [ ILE 7 T =)L (PCB) mg/Q TR — - — - — - — —
AP me/0 0.02 F| 0.004 0.004 0.003 0.004 0.002 0.004 0.002 0.004
8 [ iRE me/0 | 0.002 LIT] <0 0001 | <0.0001 | <0.0001 ] <0001 | <0000 |<0.0001 |<0. 0001 |<0.0001
IS EEEE D) me/0 | 0.004 LIF] 00003 | 00003 | 000038 | 00003 | 00002 | 00003 | 00002 | 00003
o[, 1-cronTFLY me/0 0.02 F| 0.015 0,027 0.017 0.019 0.022 0.013 0.013 0022
Mo zx1.2-95001F0> me/0 0.04 LIF| 0001 0.002 0,001 0,001 0,001 0,001 0,001 0.002
Y PEEET D) me/0 T LF| 0063 0.094 0.068 0.077 0.086 0.062 0.062 0.094
HIEFYPEEEE D) me/0 | 0.006 LIT] <0 0001 | <0.0001 | <0.0001 | <0001 | <0000 |<0.0007 |<0 0001 |<0.0001
NIYEEEEETY me/Q 0.03 LF| 0.002 0.003 0.002 0.002 0.002 0.003 0.002 0.003
57 FS/00TF LY me/0 0.0 F| 00069 | 0008 | 00068 | 00070 | 00079 | 00067 | 00067 | 0 0086
613>/ 0n o~y me/0 | 0.002 LIT] <0 0001 | <0.0001 | <0.0001 | <0.0001 | <0000 |<0.0001 |<0. 0001 |<0.0001
<oy me/0 | 0,008 LT — — — — — — — —
BFA~ AT me/Q 0.02 LIF = = = = = = = =
[~ v me/0 0.01 F| <0001 | <0001 |<o00l [<o00i |[<o000i |<o0o00i |<o000i |<0.00i
20w me/Q 0.01 LT = = = = = = = =

HEBEER mg/Q . — = - - — = — —

HErTEs ng/0 10 BT — = = = = = = =
2|5-% me/Q 0.8 BT = = = = = = = =
REEES me/0 1 LT = = = = = = = =
NEEEE pe-TEQ/S T LT = = = = = = = =
BITFIA B me /2 — 20,0001 | <0.0001 | <0.0001 | <0.0001 0.0001 ]| <0.0001 | <0.0001 | 0 0001
26 F LT me/0 - <0001 | <0001 |<o000l [<000i [<000i |<000i |<0.001 |<0.00i
Tl E me /0 — <0001 | <000 |<o0001 [<000i [<000i |<000i |<0.00f |<0. 001
28| p H - 6.1 5.9 5.9 58 6.0 5.9 5.8 6.1
291811 A ~ me/Q = 250 250 300 260 250 260 250 300
RIER=E | us/om = X X X X X X X X
X BRIGEFEIZDT., BHEREZEMR,




T KDAKE A e
No E B s |EBHEAE & &
e

REERH H20.5.7 H20.8.6 H20.10. 1 H20.12.3 H20.5.7 H20.8.6 H20.10.1 | H20.12.3

xB i i n i gnh | _@n n i

FRERRS ZI| 10:26 10:02 10:26 10:36 9:54 9:40 10:06 10:16

R -

: e | T | e

BRE E3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30

&8 BRE | BEE | ®E WE ®E | ®WE | WEE | BEE

a5 T WA R R BEne | Bang | Bue | BEe

AETEGIN IO S = = = = = = = = = = =
A ne/l | FRE = = = = = = = = = = = =
e e/t | 0.00 IIF| = = = = = = = = = = = =

3 8 (BB me/t | 0.01 BF] = = = = = = = = = = = =
EE me/t | 001 wF] = = = = = = = = = = = =

I XeT) ne/t | 0.01 BF] = = = = = = = = = = = =
A me/t[0.0005 WF| = = = = = = = = = = = =

6 RUBIEET UL (P08 | me/t | FRA = = = = = = = = = = = =

IR A= =X mg/Q 0.02 LI <0.001 <0.001 < 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 < 0.001 <0.001
8 |migikikFE mg/Q 0.002 LLIF ] <0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 | <0.0001 < 0.0001 < 0.0001 | <0.0001 < 0.0001
9(1,2-YynpxIiry mg/Q 0.004 LR <0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 0.0001 | <0.0001 0. 0001 < 0.0001 ] <0.0001 0. 0001
10{1.1->ypaxTFL> mg/Q 0.02 LAF] <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
1M|o&x-1,2-HppIFLYy mg/Q 0.04 LI <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
12(1,1,1-pYyo0QITR Y mg/Q 1 L] <0.0005 < 0.0005 < 0.0005 < 0.0005 <0.0005 | <0.0005 | <0.0005 ] <0.0005 | <0.0005 ] <0.0005 ] <0.0005 | <0.0005
13(1,1,2-kYY 002> mg/Q 0.006 LLF| <0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 0. 0003 0. 0003 0. 0003 0. 0003 0. 0003 0. 0003
14(r) 00T FL Y mg/Q 0.03 LA <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
15|17 300 FLY mg/Q 0.01 LLF] <0.0005 < 0.0005 < 0.0005 < 0.0005 <0.0005 ] <0.0005 ] <0.0005] <0.0005 | <0.0005 ] <0.0005] <0.0005 | <0.0005
16|1,3->4sonJaRy mg/Q 0.002 LLF ] <0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 | <0.0001 < 0.0001 < 0.0001 | <0.0001 < 0.0001
17|o<woy mg/Q 0.003 LI'F — — — — — — — — — — — —
18|FARUAIILT mg/Q 0.02 LI'F — — — — — — — — — — — —
VR EFY mg/Q 0.01 LLF] <0.001 <0.001 < 0.001 <0.001 <0.001 <0.001 0.002 0. 002 0.002 0. 001 0. 001 0.002
20|tEL > mg/Q 0.01 LI'F — — — — — — — — — — — —

WREER ne/0 ) = = = = = = = = = = = =

HEEE ne /0 10 BT = = = = = = = = = = =
22|50 FE mg/Q 0.8 LI'F — — — — — — — — — — — —
B[E5% ne/L S = = = = = = = = = = =
W[FA AR TR N = = = = = = = = = = =
WBITFIREY mg/Q — < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 0. 46 0.10 0. 31 0.28 0.1 0. 46
26l bLT Y mg/Q — <0.001 <0.001 < 0.001 <0.001 <0.001 <0.001 0.027 0. 061 0.074 0.019 0.019 0.074
21|F2 LY mg/Q — < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 <0.001 0.19 0.16 0.15 0.14 0.14 0.19
28| p H — 6.6 6.4 6.7 6.5 6.4 6.7 6.6 6.5 6.8 6.7 6.5 6.8
|29 |iB1EA A > mg/Q — 5.7 6.5 6.9 1.2 5.7 7.2 130 43 31 33 31 130
B EsEEE 1 us/en = X X X X X X X X X X X X

X BEESE oL, BEEREEE,
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KK o o
No 5B s |BBHELE & &
e

REERH H20.5.7 H20.8.6 | H20.10.1] H20.12.3 H20.5.7 H20.8.6 H20.10. 1 H20.12.3

xB #n | _®mn | ®h | ®mn i i n i

FEERRS ZI| 9:21 9:06 9:15 9:28 10:49 10:22 9:36 9:51

R -

e < DU s i o el N S s o i e el Bt
BRE E3 = 30 = 30 = 30 = 30 11 = 30 13 = 30

&8 ®E | ®me | ®& | ®me BREE | MEE | BAKE | ARE

a5 mR | ®a | ®a | ®ma e | @Ee | B | aEe

AETEGIN O B = = = = = = = = = = =
A ne/l | FRE = = = = = = = = = = = =
e me/2 | 0.01 T - = = = = = = = = = = =

3 8 (BB O O = = = = = = = = = = =
EE e/t | 0.0 wF| = = = = = = = = = = = =

I XeT) ne/t | 0.01 W] = = = = = = = = = = = =
A ne/t [0.0005 | = = = = = = = = = = = =

6 RUBIEET UL (P08 | me/t | FEA = = = = = = = = = = = =

IR A= =X mg/Q 0.02 LI <0.001 <0.001 < 0.001 <0.001 < 0.001 <0.001 0. 002 0. 001 < 0.001 0. 001 <0.001 0. 002
8 |migibikFE mg/Q 0.002 LI <0.0001 ] <0.0001 < 0.0001 | <0.0001 ] <0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001
9(1,2-YynpxIiay mg/Q 0.004 LI <0.0001 ] <0.0001 < 0.0001 ]| <0.0001 ] <0.0001 < 0.0001 0. 0008 0. 0007 0. 0005 0. 0006 0. 0005 0. 0008
10{1.1->ypaxTFL> mg/Q 0.02 LAF] <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
1M|o&x-1,2-HyppIFLYy mg/Q 0.04 LI'F 0.002 0. 002 0. 002 0. 001 0. 001 0. 002 0. 008 0. 006 0. 004 0. 003 0. 003 0. 008
12(1,1,1-kYyo0QOITR Y mg/Q 1 LUT] <0.0005] <0.0005 | <0.0005] <0.0005 | <0.0005 | <0.0005 ] <0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 | <0.0005
13(1,1,2-rYY 002> mg/Q 0.006 LA <0.0001 ] <0.0001 < 0.0001 ]| <0.0001 ] <0.0001 < 0.0001 0. 0005 0. 0003 0. 0003 0. 0005 0. 0003 0. 0005
14(r) 00T FL Y mg/Q 0.03 LA <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.017 0.011 0. 007 0. 003 0. 003 0.017
15|17 300 FLY mg/Q 0.01 U'F 0. 0045 0. 0050 0. 0045 0. 0054 0. 0045 0. 0054 0. 0022 < 0.0005 < 0.0005 < 0.0005 < 0.0005 0. 0022
16]1,3->4sonJaRy mg/Q 0.002 LI <0.0001 ] <0.0001 < 0.0001 | <0.0001 ] <0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001
17|o<woy mg/Q 0.003 LI'F — — — — — — — — — — — —
18|FARUAIILT mg/Q 0.02 LI'F — — — — — — — — — — — —
VR EFY mg/Q 0.01 LLF] <0.001 < 0.001 < 0.001 <0.001 < 0.001 < 0.001 0. 004 0. 003 0. 004 0. 004 0. 003 0. 004
A 4% mg/Q 0.01 LI'F — — — — — — — — — — — —

WREER ne/0 : = = = = = = = = = = = =

HEEE ne /0 10 BT = = = = = = = = = = =
22|50 FE mg/Q 0.8 LI'F — — — — — — — — — — — —
AEEES ne/L S = = = = = = = = = = =
W[FA AR e TEL] 1 R = = = = = = = = = = = =
BITFILREY mg/Q — < 0.0001 | <0.0001 < 0.0001 | <0.0001 ] <0.0001 < 0.0001 0. 0057 0. 0070 0.029 0.014 0. 0057 0. 029
26l bLT Y mg/Q — <0.001 < 0.001 < 0.001 <0.001 < 0.001 < 0.001 < 0.001 <0.001 0. 001 0. 001 <0.001 0. 001
21|F2 LY mg/Q — < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0. 002 0. 002 0. 007 0. 003 0. 002 0. 007
28| p H — 6.0 5.9 6.0 59 5.9 6.0 6.5 6.4 6.6 6.5 6.4 6.6
|29 |iBEA A > mg/Q — 10 110 110 120 100 120 400 440 470 570 400 570
B EEEEE 1 us/en = X X X X X X X X X X X X
X BEESEOLC. BEEREEE,
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#hRKDKE

7—25—-2

No E B s |EB-EE RE—6
EELS

REEAE 2026 | H205.7 | 12072 | 12086 | 120707 | H20.12.3

Kz gY En B En B Eh

R 10:49 11:16 151 T7:01 1709 1701

58 °C 18 181 242 29.2 271 10.9 _ _

XiE °c .1 7.1 .1 1.1 17.0 17.0 BME | RKE
BEE = = 30 =30 =30 =30 =30 =30

&8 BEE | WmEe BE BEE BE BE

25 |R ] | (T | |E

HETSEGIA me/0 0.01 LI = = = = = = = =

2 o7 me/Q TRt - — - — - — — —

3 (5 me/Q 0.01 LT = = = = = = = =
3|5 (AR mg/2 0.01 LT = = = = = = = =
NS me/Q 0.01 LT = = = = = = = =
1R AR mg/2 0.01 LT = = = = = = = =

5 [#7kER me/0 | 0.0006 LI = = = = = = = =

6 [KJHRILE 7 =)L (PCB) ng/2 FrRH - — - — - — — —
G mg/0 0.02 BIF] <0001 [<o0001 |<o000i [<o000i <000l [<oo00i |<oo00i | <0001
8 [ RE me/0 | 0.002 LIF| <0.0001 | <0.0001 | <0.0001 | <0 0001 |<0.0001 |<0.0001 | <0 0001 |<0.0001
I EEEE D me/0 | 0.004 LIF| <0.0001 | <0.0001 | <0.000 | <0 0001 |<0.0001 |<0.0001 | <0 0001 |<0.0001
0[i,1-cr/onTFLy mg/Q 0.02 LIF] <0001 [<0001 | <0001 [<0.001 J<000i [<o000i |<000i |<0. 001
Moxi2o00017 0> /0 0.04 L] <0001 [<0001 | <0001 [<0.001 <000l [<oo00i |<000i |<0.00i
121 1.1-F)/a0Ta> mg/0 T LR <0.0005 | <0.00056 | <0 0006 |<00005 |<00005 |<0 0005 |<0 0005 |<0 0005
1381, 1.2-Fysa0Ts> me/0 | 0.006 LIF| < 00001 | <0.0001 | <0.000 | <0 0001 |<0.0001 |<0.0001 | <0 0001 |<0.0001
NIYEEEEEDD, mg/0 0.03 L] <0001 [<o000i | <0001 [<0.001 J<000i [<o000i |<000i |<0. 001
HEECEEE ST mg/0 0.01 L] <0.0006 | <0.0006 | <0.0005 |<0.0005 | <0 0006 |<00005 |<0.0005 |<0. 0005
16[1.3os007a0~> me/0 | 0.002 LIF| < 00001 | <0.0001 | <0.0001 <0 0001 |<0.0001 |<0.0001 | <0 0001 |<0.0001
T=oy me/0 | 0.003 LI = = = = = = = =
B[FARALT me/Q 0.02 LT = = = = = = = =
NP mg/0 0.01 BIF] <0001 <0001 |<o000i [<000i <000l |<oo00i |<oo00i | <0001
0L mg/Q 0.01 LT — — — — — — — —

HEBMER mg/Q . — — — — — — — —

2 EmErEE me/2 10 UF—— = = = = = = =
2|5-% me /0 0.8 LT = = = = = = = =
BE>% mg/2 1 LR = = = = = = = =
NEEEE bg-TEQ/2 1 LT = = = = = = = =
BTF LA B me/2 - 200001 | <0.0001 | <0.0001 |<0.0001 | <00001 |<00001 |<0.0001 | 0 0001
26| FLT mg/0 - 20001 | <0001 | <0001 [<0.001 J<000i [<oo00i |<0001 |<0.001
EDD; me/2 - 20001 [ <0001 | <0001 [<0.001 <0001 <0001 <0001 0.001
28| p H - 7.0 7.0 6.9 67 6.9 68 6.7 7.0
[29[B1EA & & me/Q = 53 12 12 7.8 55 5.9 53 1
[o[EsEEE 1 us/om = X X X X X X X X
X BRIGEXIZTDONT., BEEREZER,

23




2 BERKIFLYMEE=-L2YUIJRAERKR
o BIEER it AR R i FR AR R - .
No 1HE Bifis A-1a A-1b A-1 o Iﬁf%‘%%é
WmEZHA H20. 1. 22 | H20. 5. 27 |H. 20. 7. 24] H20. 9. 30 | H20. 1. 22 | H20. 5. 27 |H. 20. 7. 24] H20. 9. 30 | H20. 1. 22 | H20. 5. 27 |H. 20. 7. 24] H20. 9. 30 :

1Rty mg/m’_| 0.0008 | 0.0004 | 0.0005 | 0.0004 | 0.0006 | 0.00038 | 00004 | 0.0002 | 0.0006 | 0.0004 | 00005 | 0.0003 |0 003LLT
2[FysnoTFLY mg/m_| <0.0002 | <0.0002 | <0.0002 | 0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002_| <0.0002_| <0.0002 [0.2 LT
3| k55 R8TFL> | mg/m_|<0.0002 | <0.0002 | <0.0002 | 0.0010 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 |<0.0002 [0.2 LLF
MR mg/m’_| 0.00024 | 0.00042 | 0.00034 | 0.0012 | 0.00026 | 0.00026 | 0.00031 | 0.00031 | 0.00022 | 0.00026 | 0.00029 | 0.00027 |0. 15 LLF
X RUEVEICLKDZRADFBLIZRIREREELZER,
3 KREFEMEE=4UITAERKR

A TR A — 2

3B E B H20.1.19~1. 25 H20. 5. 26~6. 1 H20.7.23~7.20 | H00.29~T05 | ppsrse

BTHE] @me |1BTHE| @me |BF8E| me |18FsE] @me |
(ppm) FHEE (ppm) FHEE (ppm) FHEE (ppm) FHEE
EE 0.003 0 0. 001 0 0. 001 0 0. 001 O
- 28 H 0.001 O 0.001 o 0.001 o 0.001 O [1B0FH
& EE 0.002 0 0.002 0 0. 001 0 0. 001 0 E’b\oog 04
1t == 0.003 o 0.002 o 0.002 o 0.001 O |py—ol
= 58 E 0.007 O 0. 001 O 0.002 O 0.002 O |mwixz
ES EE 0. 002 o) 0. 001 O 0. 001 O 0.002 O hLF
TBE 0. 002 0 0. 001 0 0. 001 O 0. 002 O
T TMME A — 2
3B E B H20.1.19~1. 25 H20. 5. 26~6. 1 H.20.7.23~7.29 H20.9.29~10.5 —
BENE]| @me | BEE | @a |BTHE| @ma | BEE | @e |BT8E] @ | BEE | @a |BENE| @e | BEE | @s e
mg/m’) | FBEE | mg/m) | TEE | mg/m’) | TEE | mg/m’) | TEE | mg/m’) | TEE | @mg/m®) | TEE | mg/m’) | TEE | (mg/m’) | TEE

= EE 0.010 O 0. 055 O 0.015 O 0. 045 O 0. 043 O 0. 091 O 0.017 0 0.062 O |imwwmEn
iﬁf;— EE 0. 005 O 0.023 o) 0. 006 O 0.030 O 0.032 O 0.071 O 0.021 O 0. 045 o 0. g/’
s EE 0.011 O 0. 043 O 0.010 O 0.037 O 0.013 O 0.039 0 0.020 0O 0.043 O LT
F R 0.010 O 0.034 O 0.007 O 0.018 O 0.023 O 0.073 O 0.022 O 0. 069 o
IR 5HE 0. 008 [6) 0.043 ) 0.016 ) 0. 059 ) 0.034 ) 0.078 0 0.022 0 0. 058 0 1B REEAT
0 68 5 0.017 O 0.118 O 0. 009 O 0.033 ) 0.015 O 0. 046 O 0.019 O 0. 071 o 0. 2mg/m’
5 TBE 0. 004 O 0.014 O 0.017 O 0. 042 O 0. 009 O 0. 030 O 0.020 0O 0. 049 0 bl

24




4 BERPE=H2YY
(1)EBEE

AERR

—_—_ E B3 Bt X EEZTLS S
A—2 A—3 A—4 (dB)
BIE B H20. 1. 22 | H20. 5. 27 | H20. 7. 24 | H20. 9. 30 | H20. 1. 22 | H20.5.27 | H20. 7. 24 | H20. 9. 30 | H20. 1. 22 | H20. 5. 27 | H20. 7. 24 | H20. 9. 30 (Gﬁ#%la;ﬁzﬁ#)
B (BfHE) 6:00~22:00 6:00~22:00 6:00~22:00 ' '
BERER (LAeq) *? 58 | 5 [ 61 | 60 59 | 61 [ 61 | 60 68 | e | 6 | 69 10T
X1 REEEG NERCET SHMBEOREREE) ORRRXBEESERICERT SIEMEERA.
¥ 2 LAeqlEHHEEE L NIL,
(2) &3
—_—_- E 4B Bt X EEZTLS T
A—2 A—3 A—4 (dB)
BIEH H20. 1. 22 | H20. 5. 27 | H20. 7. 24 | H20. 9. 30 | H20. 1. 22 | H20.5.27 | H20. 7. 24 | H20. 9. 30 | H20. 1. 22 | H20. 5. 27 | H20. 7. 24 | H20. 9. 30
e | BEC | 30K | SORE | S0k | S0k [ 02 33 31 33 44 46 46 51 65
wrpee | soski | soski# | soskm | Sosk | sokwm | 81 | sokm | 34 42 43 38 41 60
X1 ERFREE NERXEBRDOERFRE] OF 1 BEREEER,
X2 BIRHERESNL L SOLIRE (L) OFHIE,
X3 B (8Rr~108F) . KM (6KF~8RFR UMK ~228F)

25
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